ENGLISH

MY BIG BROTHER
l.a) Meanings / Synonyms:
1. blockhead - fool
2. proclaimed - made known
3. tongue-lashing - asevere scolding
4.reel - to move from side to side
5.admonish - warn, strongly criticize
6. internalize - incorporate within one’s self
7. humiliate - embarrass, putdown
8. obliged - bound
9. grieved - feltsad
10. embraced - hold tightly in one’s arms
11. indignant - showing anger and surprise
12. despondency - loss of hope and courage
13. demeanour - outward behaviour
14. fluke - luck

Il. b) Antonyms:

1. despicable x indespicable 2.fritterxsave 3.insolence x respectful
4.seize x release 5.progress x regress

lll. Answer the following with reference to context:

1. But the moment | returned to the room, | would freeze in my tracks to
see my brother’s red face.

a) Whose thoughts are expressed through the above line?

Ans: The younger brother’s thoughts are expressed through the above line.
b) What do the words ‘brother’s red face’ mean?

Ans: The words ‘brother’s red face’ mean that the person was filled with
anger.

2. ‘My eyes were turned upwards and riveted on the air traveller that was
reeling gently towards its downfall’

a. What does the word riveted mean?

Ans: The word riveted means ‘fixed'.

b. Who is the air traveller referred to in the given line?

Ans: The kite that was chased is referred to as the air traveller.

IV. Answer the following in a paragraph:

1. Bring outthe humourin the story.

Ans: The story is humorous at several levels. It starts with irony in the
opening lines of the story where the elder brother who is studious has to
repeat his classes. The author brings in humour through language as well as
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situation. Certain situations like the narrator’'s timetable; the elder brother’s
rating against the system, the fact that the elder brother fails inspite of his
efforts and the younger one stands first are also humorous situations.

2. Write a few characteristic traits about the elder brother.

The elder brother was fourteen years old and was not good in
academics. He spent extra years in each class and claimed that it helped
in building a strong foundation. He expected his younger brother to abide
by his commands. Instances from the story showed that he wanted to
lead by quoting examples from his daily activities. At a certain point he
proved to be good at the art of giving advice but none of which gave any
encouragementto his younger brother.

V. Answer the detail:

1. What were the elder brother’s thoughts and reactions to failing for the
firstand second time?

Ans: Before the examination, the elder brother lectured about how hard
one must work in order to pass the exams. But after the first time he
failed, he made a lecture and quoted king Ravan’s fate as an example.
He said that pride caused the fall of even the greatest scholars. Passing
the exam was not important, internalizing and acquiring wisdom were
more important.

After he failed for the second time, the elder brother became more
defensive. He told the narrator that no matter how successful one
became, the elders who had seen more of the world would always have
an upper hand. Hence they could never be equal.

2. Explain the relationship of the brothers in the story,
‘My Elder Brother’.

Elder brother, who was five years older than the author was a boy of
perfection. He was studious by nature and was always glued to his
books. Whereas for the author, sitting with abook was rather tedious like
climbing a huge mountain.

Though the elder brother insisted his younger brother to study well,
his tongue - lashing words would demoralize the younger brother.

On the other hand the younger brother wasted his precious time in
playing. The fact that the elder brother works very hard and yet fails in his
exams in spite of his efforts and that the younger one stands first in spite
of his nonchalance is the mainirony in the story.

Though the title is ‘My elder brother’, at the end of the story, they run
after the kite almost as equals.



A MOST IMPORTANT PERSON

Il.LA. Meanings:

1. daunted frightened

2. alley anarrow passage between buildings
3.callon visit

4.amazed astonished

5. composure calmness

6. grimy dirty

7. gratified fulfilled

8.amazed surprised

9. prejudices
10. summons

belief without any basis
call, notification

11. gorgeous magnificent
12. bristling excited

13. composure calmness
14. briskly energetically
15. departed gone

Il. Antonyms:

1. deprive x provide
4. imitation x original

2.glancexstare 3.shallowx deep
5.heap xscatter

lll. Explain the following with reference to context:

1. “It's the Christmas he told himself.
‘ltmakes herlonely’.
a. Who said the above words?
Ans: The chauffeur said the above words.
b. Who feltlonely?
Ans: Lucy Quinn feltlonely.
2. Ifalittle boy like him could take the initiative, so should she.
a. Whois the little boy referred to in the above line?
Ans: Chesteris the little boy referred to in the above line.
b. What does the word initiative mean in the above line?
Ans: The word initiative means the ability to decide and acton one’s own.
IV. Answer in paragraph:
1. How would you describe Chester as a person?

Chester honestly thanked Ms- Lucy Quinn when she saved him from
those rude boys. His honesty is reflected when he asked how elated Ms.
Lucy felt after saving him because, he too, had once saved a cat and
became fond of it.

Chester is friendly, outgoing, easy- to-talk boy. After his arrival into
Ms. Lucy Quinn’s life, she yearned for his frequent visit into her house
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which cheered her up. Chester is energetic, an extrovert and a caring
boy.

2. Do you think that his story teaches us something important about
friendship? Write and share your thoughts.

Yes, it teaches us that age or class does not have anything to do
with friendship. Friendship knows no barriers. Meeting new people and
having friends help people live a fuller life; Makes people happier. We
may doubt ourselves, wonder if people like us, but at the end of the day,
we just have to make an effort and be outgoing.

V. Answer in detail:
1. Write a character sketch of Mrs. Lucy Quinn.
Ans: Miss Lucy Quinn hailed from a family that could socialize with only a
few in the city. She seemed an introvert as she always associated with
few people. Her aloofness brought out the fact that she glanced down at
Chester and went on walking even when he slipped his hand into hers. It
was evident that she turned apprehensive after hitting two bigger boys,
she got upset and told Chester that little boys should not fight on the
streets. Besides being aloof and apprehensive, Miss Lucy was
sentimental and loving. She tried to put up the same old angel on top of
the Christmas tree that she used to when she was a child. Miss Lucy tried
to express her love by buying boxing gloves for Chester and candy canes
for his sister though they were strangers to her.
2. Whatwas wrong with the way Miss Lucy had been brought up?
Ans:  Miss Lucy Quinn led a lonely life. The rest of the year she
endured her loneliness with calmness and composure, but at Christmas,
she found herself in the pitiable clutches of loneliness. Miss Lucy and her
sister Agatha had been brought up on the fixed idea that there was only a
small group of people in the city with whom they might associate. One
needs to overcome the sad part of their life and interact with people from
all walks of life. Though Miss Lucy Quinn and her sister Agatha were
gifted with loving parents, they had died and Miss Lucy also lost in touch
with others.

Ls.2 Elephants Raid The Kitchen

I. Synonyms/Meanings:

1. noxious - deadly, injurious
2. wreckage - ruins

3. reluctant - unwilling

4. abandoning - leave behind

5. undeterred - brave

6. ecstasy - bliss

7.wrenched - forced violently
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8. flimsy - not strong, light, thin

9. odour - scent

10. fermented - turned sour

11. periphery - the outer edge of a particular area
12. disgorged - poured outin large quantities

13. banquet - feast

14. ecstasy - extreme joy

15.nonchalant - careless

llLAntonyms:

1. distant x close 2. conflictx harmony 3. darex qualil

4.dignify x degrade 5. hazy x definite

lll. Answer with reference to context:

1. She wrapped her trunk around a sisal pole and pulled

a. Who wrapped her trunk around a sisal pole?

Ans: Tuskless wrapped hertrunk around a sisal pole.

b. Give the meaning of the word ‘sisal’

Ans: The word ‘sisal’ means a tropical plant from which poles are made.

2. Each elephant gathered a last trunk full and started

backing away, reluctantly abandoning the banquet.

a. Why has the word banquet been used? Write a brief note.

Ans: Banquet is a celebration with food. The smell of delicacies from the
tents gave the elephants a feeling of a banquet.

b. Why did the elephants leave reluctantly?

Ans: The elephants left reluctantly because they wanted to look for more
food in the collapsed kitchen.

IV. Answer in paragraph:

1. Why did the narrator blame herself for the mess?

Ans: The narrator blamed herself for the mess because she felt she
should have known better and taken the necessary steps to put all the
food items safety out of the herd’s reach, especially since her camp had
been raided before.

2. Write afew traits that best describe Tuskless.

Ans: Tuskless knew how to find food and got her friends to join her to
reach it. This shows her to be intelligent. She was also opportunistic as
she went after the food when there were no people to chase her away.
She not only went after the bananas she loved but also other food items
in the vicinity. Tuskless was a risk taker because she was able to raid
down the camp.

3. What did the narrator first do on her arrival at the camp?

Ans: As soon as the narrator realized that the camp was being raided by
the elephants, without getting off the Land Rover, she rushed at the
elephants to chase them away. Once they had left she climbed down and
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crawled into the kitchen because she could hear and smell gas escaping.
She found the gas cylinder and removed the regulator to close off the valve.
V. Answer in detail:

1. Explain how the elephants entered the kitchen and how did

Tuskless manage to getfood out of the tent?

Ans: Tuskless wrapped her trunk around the main sisal pole of the tent
and wrenched it away. The other elephants moved forward and also
started pulling on the other poles and the wire. Tuskless quickly made a
sizeable hole in one wall of the kitchen. The kitchen was a flimsy structure
that gave way for Tuskless and other elephants to make their entry. But
getting food out of the tent was not easy for Tuskless. She had to break
through the kitchen walls. At one point she became impatient enough to
lean on the wall causing the kitchen to collapse. After all the fresh food
was gone, she had to knock down and smash the cupboard to get to the
rest of the food but she was undeterred.

2. What had happened at Cynthia’s camp before the elephants raid the
kitchen?

Ans: Tuskless, Teddy and a few other elephants were feeding on grass
along the border of Cynthia’s camp. The smell of food made her to make
way in a sneaky way towards the tent. The delicious smell of ripe bananas
created quite a temptation in Tuskless. She had popped in an over ripe
almost fermented banana from a whole stalk and enjoyed the sweet taste.
After eating most of them she also shared a few with her friends. That was
the first time she tasted bananas at a lodge feeding place and from then on
she sought them out. It was the smell of food from the flimsy kitchen that
brought Tuskless and her friends closer to the camp. Moreover, there was
no one around, so Tuskless with her friends started to bring down the

structure.
THE CORNER SHOP (SUMMARY)

The Corner shop opened by one of those cheerful jingle — jangle bells,
and the narrator entered into a large space, thickly crowded with all the
traditional treasures of a curiosity shop. Suits of armour, warming pans,
misted mirrors, spinning wheels brass kettles, Chandeliers, gongs, chess-
men, and furniture of every size and period were presentin it. Despite all the
clutter of antiques, the room was neither dusty nor gloomy.

At the entrance there stood a young woman and a girl who were
obviously sisters. Their bright smiling faces made a pleasant impression.
The narrator bought a sheffield plate at a moderate price and left the shop.

A week later the narrator visited the corner shop again but was
disappointed to find it closed. Before he left he tried again to see if anyone
showed up. To his surprise afrail, pale looking little man enquired if he could
show him anything. After a brief conversation the narrator’s focus shifted to
a little frog made of jade, a green coloured ornamental stone. The narrator
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boughtthe jade frog and left the shop feeling bad for the feeble old man.

The very next morning a pleasant surprise awaited him. A very dear
friend from London visited him. The narrator’s friend was employed by one
of the best known Fine Art Dealers and Auctioneers. On seeing the jade
frog, the friend exclaimed that it was an amazing unique piece of the Hsia
dynasty. Being a dealer of antiques the narrator’s friend got him a good deal
on the frog. It fetched him eighteen hundred pounds. But the narrator was
troubled to keep the entire amount. He wanted to give half the sum to the
corner shop. The narrator hurried to the corner shop which bore the notice
‘closed’ but soon the old man showed up.

He asked the old man to convey the news of a proper price to his
mistress. The old man’s presence did not last long, the narrator noticed that
he seemed to have vanished.

After a few days he met the sisters and expected a warm welcome.
When they recognized him they bowed quite casually. The narrator came to
know that they knew nothing about the cheque. They also knew nothing
about the sale of the frog. These incidents made them feel angry towards
the care taker. Just then a call came in that Mr. Holmes, their caretaker
passed away. Both girls felt sad over his death. Though the girls were notin
need of the money the narrator persuaded them to acceptit.

Bessie left the scene and the conversation that followed with the other
sister brought out more facts about the girls and the corner shop. The
narrator understood that the old man was not Mr. Holmes. There was no
match between the old man he saw and the photo in the album. Secondly,
Miss Wilson shared her father’s past and how he came to earn the fortunes.
She said her father made three marvellous strokes of business. The profit
was similar to the narrator’s purchase. Unfortunately the friendship of a
priest made him feel guilty of his new fortune. Luck turned into guilt and
began to prey upon him.

In order to make amends Ms. Wilson’s father was determined to find
three human beings. He busied himself to find works of art that could
fetch a lot of money. Time permitted him to find two customers who made
good profit. He was not lucky enough to find the third one. At this moment
the narrator felt glad as he considered himself to be the third in due of the
luck.

Finally, approaching footsteps made the narrator decide that he was
going to meet their father. To his surprise Ms. Wilson said that he was
Bessie’s father. She added that Bessie and herself were step sisters. The
truth was that her father died years ago.

The story brings together elements of moral and the mystery of a
supernatural one.
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| Have a Dream

PROSE
I. Meanings/ Synonyms:
1.decree - verdict
2.beacon - guiding light
3. seared - scorched, burned
4.desolate - lonely
5. bankrupt - onewhohaslostall money
6. segregation - separation
7.creed - beliefs
8. prodigious - amazing
9. discords - disagreement between people
10. curvaceous - curved
11. hamlet - asettlementsmallerthan avillage
12. fatigue - tired
13. hew - tomake or shape something
14.vaults - strongrooms or valuables
15. pursuit - searchfor
Il. Antonyms
1.satisfied x dissatisfied 2. segregate x group 3. freedom x bondage
4.luxury x poverty 5.former x latter

lll. Answer the following with reference to context:

1. But America has failed to pay on this promissory note to her citizens of
colour

a. Who are the citizens of colour?

Ans: The people of non-white descent are the citizens of colour.

b. What is the promissory note referred to in the given line?

Ans: The note promises that all men will be treated equal irrespective of
their colour.

2. I have a dream that one day little black boys and black girls will be able
to join hands with little white boys and white girls as sisters and brothers.
a. Whois the speaker of the above statement?

Ans: Martin Luther King is the speaker of the above statement?

b. Why does the speaker state the above statement?

Ans: The speaker states the above line as he wished that all white and
coloured children should grow together without any feeling of difference.
IV. Answer in a paragraph:

1. Whatis Dr. Kings purpose in giving this speech?

Ans: Dr. King hopes to motivate and encourage black Americans to stand
up for justice and equality. It is a call for social, economic, and political
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equality, against racial discrimination of African Americans. Every line of
his speech highlighted the need to feel and ring freedom from every
village, state and city to join hands and sing the words, ‘Free at last! Free
atlast! Thank God Almighty we are free at last!

2. How does king illustrate America’s broken promise and what does he
compareitto?

Ans: According to king every American was to fall heir to the rights of life,
liberty and the pursuit of happiness. The reality was too sad and bitter.
King and his people needed to cash a cheque thatis symbolic of freedom
but America failed to pay her coloured citizens. He comments that the
cheque has come back marked insufficient funds’. Hence he compares
this loss to a cheque that has bounced.

V. Answer in detail:

1. What were the African - American deprived of?

Ans: The African Americans were deprived of their rights, freedom and
quality of life. Though America was a land of opportunities the coloured
half of America was still living in poverty and in the midst of unspeakable
horror. After a long journey they were unable to gain lodging in the motels
of high ways or check into hotels of the cities. It was a heart breaking sight
to read sign boards that stated ‘for whites only’. The pouring outrage in
many ways just took away the sense of dignity and pride. Often they also
became victims to police brutality. Atthe end of the day they had nothing
much but an oppressed life in a small ghetto.

2. Was Martin Luther king a powerful speaker? Write a few thought
provoking lines from his famous speech | have a dream.

Ans: Yes, Martin Luther King was a powerful speaker. His speech was
effective enough to move the audience. He proved himself to be a
powerful speaker as he was able to drive a point. It was evident from his
speech that the struggle for equality must be non-violent. His lines were
charged with the power of rhetoric. Nearly every line of Dr. King’s speech
was powerful enough that the impact spread far and wide.

Afew lines are,* | have a dream that one day this nation will rise up and
live out the true meaning of its creed.

*I have a dream that one day a state sweltering with heat of injustice will
be transformed into an oasis of freedom.

*I have a dream that little black boys and girls will be able to join hands
with little white boys and white girls as sisters and brothers.
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CAN WE CHANGE THIS?
l.Meanings / Synonyms:

1.ledge - bench, a projection
2.shriek - high - pitched scream
3. provoked - aroused
4. disgusting - sickening
5. wretched - terrible
6. eminent - famous
7.obscene - indecent, immoral, offensive
8. nectar - honey
9. apparently - seemingly
10. frenzy - uncontrolled state
11. proceedings - a series of actions
12.infuriated - made extremely angry
13.agony - pain
14. reluctant - hesitant
15. reverence - respect
Il. Antonyms:
1. provoke x deter 2. wretched x wonderful
3. frenzy x composure 4.bondage x freedom

lll. Answer the following with reference to contest:

1. The animals were muzzled so that they wouldn’t help themselves to
the straw

a) Why were the animals muzzled?

Ans: The animals were muzzled so that they did notfeed on the straw.

b) What does the word muzzled mean?

Ans: The word muzzled means to put a guard around animals’ mouth to
prevent it from biting or feeding.

2. When | heard this, | didn’t want to laugh anymore and it felt terribly sad.
a)Whois ‘I'inthe given line?

Ans: lis the narratorin the givenline.

b) Why did the speaker feel sad?

Ans: The speaker felt sad because of the treatment given to the man who
had the parcel.

IV. Answer in a paragraph:

1. Relate the humiliating incident that the narrator experienced at school.
Ans: One day the narrator and her friends decided to run up the coconut
palm and touch the tip. Encouraged by the excitement of the first few who
managed to touch a coconut, those who came later grabbed it and
twisted it. By the time the narrator got there the coconut fell at her touch.
Out of fright the other children said that she was the one who plucked it.
The next morning at assembly, the headmaster humiliated her by calling
her a ‘Paraya’ and accused her of theft. He further asked her to stand
outside.
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2. What was the sight that the narrator found amusing?

Ans: The narrator saw an elder of her street came along the direction of the
bazaar holding a parcel. The manner in which he was walking made her
double up with laughter. The old man was holding the packet by its string,
without really touching any part of the parcel. He was doing it in an odd
manner. Being from a lower class, had he touched the vadais they would
have been considered polluted and the Naicker would not have eaten the
vadais.

3. What socio-economic strata did the narrator belong to and how was
she different from others who faced discrimination?

Ans: The narrator belonged to a lower caste. She felt that the word
paraya was indecent as they too were human beings. Though life was
tough for her and her people the narrator was different. She was angry
about the way she was treated while the others either accepted it as their
fate or laughed at the situation. She was also sent to school to get a good
education. She was good at studies and topped her class.

V. Answer in detail:

1. Give an account of the narrator’'s Annan in the narration and what
suggestions did he offer.

The narrator’s Annan studied at a university and spent time with his
family during the holidays. He often visited the banks of the irrigation
tank. One day one of the Naicker men asked him who he was and in reply
he said that he was a paraya from cheri street. These words were like a
slap to the Naicker. When the Naicker questioned their paati she just said
that educated lads talk in a sharp way. Even during other situations
Annan was able to handle it with boldness.

Annan told her that being born into a paraya family strips them of any
honour, dignity or respect. He added that only education can help them.
He also urged her to work hard and be ahead in her lessons which will
attach people to her.

2. What humiliation did the lower castes had to face?

Ans : The lower castes had to run petty errands for the higher castes without
touching their things. When the narrator’s grand mother was working in the
fields even tiny children from upper castes would call her by name and order
her aboutjust because they belonged to the Naicker caste.

Little boys were called Ayya, by the labourers and they had to run
about to do their bidding. Even the way they were given their drinking
water was terrible. The Naicker women would pour out the water from a
height of four feet, while the narrator’s grandmother and the others drank
it with cupped hands held to their mouths. The narrator’s grandmother
had to sweep out cowsheds, collect the dung and dirt and then was given
the leftoverrice and curry from the previous evening.
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THE BEGINNINGS OF A MIRACLE

PROSE
I. Meanings / Synonyms
1. expectant eager
2. marvel wonder
3. groped fumbled
4. delighted excited
5. headway progress
6.revealed told
7.regret upset over pastaction
8. dispute argument
9. stamina strength
10. docile submissive
11. deprived impoverished
12. chuckled giggled
13.insisted claimed
14.tussle - struggle
15. obstacle - barrier, impediment
Il. Antonyms
1.gross x polite 2. perturbed x composed

3.routine x unusual 4. shatter xmend

5.uncanny x ordinary

lll. Answer the following with reference to context.

1. lwas like that ship before my education began.

a. Whose thought or feeling is voiced in the given line?

Ans: The thought of Hellen Keller is voiced in the given line.

b. What is the similarity between her life and the ship?

Ans: The similarity is that both are directionless.

2. The improvement they have seen in their child has given them more
confidence in me.

a) Who saw an improvementin their child?

Ans: Helen’s parents saw an improvementin their child.

b) Who felt entrusted with confidence?

Ans: Anne Sullivan felt entrusted with confidence.

IV.Answer in a paragraph:

1. Anne Sullivan accomplished a great deal of her part was just as
difficult, if you agree give reason.

Yes, Anne Sullivan’s part was also just as difficult. Not only did she
have to deal with the stubborn and spoilt child but also her over indulgent
parents. It must not have been an easy task to convince them about what
she wanted to do and why it was important for their daughter. She had to
be strict with Helen, this was not an easy task to do while the parents
were watching.
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2. Write a paragraph to show thatAnne Sullivan was a great teacher.
Ans: Language is important for communication. Itis essential to
express one self. Anne Sullivan introduced Helen who could not
hear and was visually impaired to the world around her. She did
it through the miracle of language given Helen’s condition

Anne Sullivan accomplished a great deal. She opened the door of
knowledge and language for Keller. She was very patient with Helen and
adopted ways to make learning possible by someone suffering from
vision and hearing problems. Ms. Sullivan also dealtwith the tantrums
that Helen threw about often. She was indeed an outstanding teacher.
V. Answer in detail:
1. Mention an incident in the text which proves that Helen’s parents were
overindulgent towards her and how did itinfluence her?
Ans: Helen’s family was overindulgent towards her, especially her father.
He could not bear to see her cry. When she and her teacher returned from
the garden house Helen decided that she wouldn’t use her napkin at the
table. Her teacher tried to put the napkin round her neck several times,
but each time she tore it off, threw it on the floor and finally began to kick
the table. Sullivan took her plate away and started to take her out of the
room but Helen’s father objected. He said that no child of his should be
deprived of food on any account.

The overindulgence of Helen’s family towards her seemed to be a

reason behind her stubborn and aggressive attitude. Since she was
allowed to get away with everything, she had grown into a stubborn child.
2. Write aboutthe nature of Helen through the letters of her teacher.
Ans: Helen seemed an impossible child and her family allowed her to do
what she pleased. She would never give in without a dispute. To get her
to do the simplest thing was very difficult. She was kept away from her
family in a garden house with her teacher just to bring her around. Even
getting her to bed was a tough task. Later, Helen became docile and
played with her dolls. She knew many words but did not know how to use
them. In course of time Helen showed improvement as a learner and
adapted herself to the lessons and discipline.

Helen also got rewards and patted herself when she did well. Thus
Helen’s nature and gradual change were also revealed through her
teacher’s letter.

Into the snake pit (Prose)

I. Synonyms
1. Soothed - comforted
2. Alighted - gotdown

3. Fantastic - unbelievable
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4. Puniest - tiniest

5. Peevish - irritable

6. Modest - humble

7.Specimens - samples

8.Glee - happiness

9. Hostility - with great speed

10. Generosity - spirit of giving

11. Hauled - move, pull to another spot
12. Frantically - excitedly

13. Solemnly - earnestly, impressively

Il. Antonyms:

1. sluggish x active 2.club x separate 3.bliss x misery
4. flaunt x conceal 5. migrate x stay

lll. Answer the following with reference to context.

1. Ibegantofeel an unpleasant sensation in the pit of my stomach.

a. Who feltan unpleasant sensation?

Ans: The narrator felt an unpleasant sensation.

b. Write a brief note on the given lines.

Ans: The narrator was not happy about going down the snake pit. The
very thought stirred unpleasantness within him.

2. He explained with glee that he had got me the specimens he had
promised.

a. Who explained with glee about the specimens?

Ans: An Irish man named Mac Tootle explained with glee about the
specimens.

b. What are the specimens referred to?

Ans: Alarge pit full of snakes is referred to as specimens.

IV.Answer in a paragraph.

Q1. Bring out the humour in the last part of the account, relating to Mac
Tootle and his brother.

Ans: It is ironical that before they begin the ordeal, they wait for Mac
Tootle’s brother and sister - in - law to join them as they might never get
another chance to see a man catching snakes. But after having put the
narrator through the whole ordeal, Mac Tootle says that his brother didn’t
have the required courage to watch the ordeal. All along, they are
unaware of the narrator’s miserable plight.

Q2. Write a paragraph on the initial experience of the narrator’s West -
African trips.

Ans: The narrator returned to England after his first West - African trip and
described his work with enthusiasm. He lived and worked in the rain
forest for eight months. His stay was quite happy and never had any hair
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raising experience. During his second West African trip he met a young
Irish man called Mactootle who was heading to the Cameroons. He
heard from Mactootle that Africa was the most dangerous place. The
narrator made Mactootle feel comfortable over the thought of catching
snakes. He also added that he tried to catch a few snakes but were very
fast. He suggested that knowledge of snakes, could be of some help.

V. Answer in detail.

Q1. Is the writer’s task a perilous one. Why? What was the writer’s
conclusion after the pit ordeal?

Ans: The writer’s task is a perilous one because he had to get into a pit
with gaboon vipers. Gaboon vipers are the deadliest snakes in the world
that remain sluggish during day time, but at night when they wake up and
hunt for food they can be unpleasantly quick. As the narrator made his
entry into the pit at night it was more difficult. The vipers were hard to spot
as the colour and spots merged them into the background.

The writer concluded that it was not necessary for him to have
agreed to go snake catching in the snake pit. He felt it was both foolish
and dangerous to take such a risk and get into trouble and danger. The
narrator blamed himself for not being careful about the extent to which he
was willing to risk danger.

2. Give an account of MacTootle’s meeting with the Narrator before he
leftto England.

Ans: The narrator was ready to leave to England with a good collection of
different creatures. Just before the ship was to set sail Mactootle showed
up with friends of his. He appeared happy and explained to the narrator
that he got the specimens he had promised. He also said that he
discovered a large pit of, snakes somewhere on the plantation where he
had worked. He urged the narrator to go and get the snakes. Mactootle
was delighted at the thought of snakes. He kept boasting about the
narrator’s powers and snakes catching methods.

Thus Mactootle persuaded the narrator to go snake catching before
he left to England. Though the narrator was hesitant he collected things
that he needed and set off for the ordeal.

NOTICE WRITING (Sample)
You are Varun / Anita, Write a notice to inform the students about a
seminar on the importance of sports in the school auditorium the coming
Friday. The seminar is to be attended by all students of class 6 to class 8.
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SACRED HEART ACADEMY
NOTICE

SEMINAR ON IMPORTANCE OF NUTRITIOUS FOOD
12 Aug 20XX,

This is to inform all the students of class 6 to class 8 that a seminar on
the importance of Nutritious food will be held in the school auditorium on
the coming Friday, 17 Aug 20XX from 1 p.mto 2 p.m.All the students are
tobe there ontime.

Varun / Anita
SCHOOL PUPIL LEADER

BIOGRAPHICAL SKETCH SAMPLE
VALUE POINTS

Name . AMARTYA SEN
Birth : November 1953
Education : Studied in Delhi School of Economics, BA and

PhD from Trinity College Cambridge.
Contribution : Work in famine, Human development theory.
Profession : At ThomasLamontUniversity—Professorof Economics.
Achievement: First Indian to head the Oxford University 1999 — 2004.
Recognition : Nobel Prize for Economics (1998) for his work on

Welfare Economics,

Indira Gandhi Gold Medal award of the Asiatic.

Society, Bharat Ratna (1999)

AMARTYA SEN

Amartya Sen (birth 1933) is an Indian Economist. He won the
Nobel Prize for his work an Welfare Economics (1998). The recipient
of the Indira Gandhi Gold Medal of Asiatic Society was also awarded
Bharat Ratna — (1999). After Graduation from Delhi School of
Economics, he did his BA and then went on to do PhD from Trinity
College, Cambridge. He was the first Indian academic to head the
Oxford University, from 1998 — 2004. He is currently a professor of
Economics of Thomas Lemont University.
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REPORT WRITING - (SAMPLE)

Write a report in about 80 words based on the following
news item.

Chennai : The fuse is getting shorter. As the people of
Chennai lose their patience over worsening water and power supply,
the city police have identified over 25 'potential trouble spots'.
Chennai: A high summer day in May. There is no water and no
electricity in the house. The inmates are furious. This is the daily state
of affairs of locality after locality in the city. The angry residents
sometime come out on the roads, blocking traffic and in extreme
cases they attack the local power stations. The police are on the
alert. They have identified twenty five such trouble spots in East,
North and South Chennai. The chief Minister has promised that the
situation will improve shortly.

FORMAL LETTER (SAMPLE)

You are the purchase officer of a company. Write a letter of
complaintto a furniture dealer for delay in the delivery of furniture.

XX XX

ABC Company
M G Road
Chennai

24" August 20XX

Mr. Arun Kumar
Sales Manager
New Furniture Company
24 Nehru Company
Chennai
Subject: Delay in the delivery of furniture.
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Dear Mr. Kumair,

This is to inform you that the furniture we ordered for on 17"
August 20XX (order number 81235) is yet to be supplied. The delay
has put us to great inconvenience. Due to this reason our new office
cannot be operational. Please arrange the delivery of the furniture
without any further delay. Otherwise we may have to cancel the order
of the furniture and hire a new supplier.

Yours faithfully / sincerely / truly
XX XX

Purchase officer

ABC Company.
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Ch -1. Rational Numbers

RATIONAL NUMBERS: A number which can be represented

in the form of % , where P and q are integers and g=o is

called a rational number.

a) All the natural numbers whole numbers, integers and fractions
are rational numbers, but the converse may not be true.

-3

For ex: 7]

is a rational numbers, but it is neither a fraction

nor an integer. Also, it is neither a whole number nor a

natural number.
PROPERTIES OF RATIONAL NUMBERS:

Name of the

integers and
O# 0& S# 0.

Property Addition Subtraction | Multiplication  Division
1. Closure |If % and % If % and % If % and % If % and %
are two are two are two are two
rational rational rational rational
numbers, thefnumbers thennumbers thennumbers, thel
their addition(p _ r _ps—qr|p ,r _ pr (p . I .
AR R L6 L o
qg s also a rationalis also a a rational
also be a number rational number
rational number
number
S
ps+qr
qs
Where p,q,r
and s are
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n

NS:E%:;;he Addition Subtraction | Multiplicationl  Division
2. Commu-  |if % andg argif % andg argif % and argif % andg ar
tative two rational |two rational |two rational |two rational
property numbers, thenumbers, thepnumbers, themnumbers, thel

qg s S 4dlg s”s qg|9 s S Qq|q 's” s ’'q
where p, g, r |i.e where p, 4, T fand gz 0 &
and s are commutative |and s are —
integers and |property doegintegers and
g+ 0 & s# 0.|not hold goodlq# 0 & s# o.
3.Associative |f%% ano% |f%% ano% |f%% and% Associative
property
are three are three are three doesn't hold
rational rational rational
numbers, themnumbers, thepnumbers, the Tq_oc_)d_ for the
' ' ’ division.
p rv.t dtp ot | p_ry_t
(g +sr) +Ut g —5) 5= (g x5) x5 =
a6 N | aEx)
Whenp, g, |j.e associativéWhen p, g, r
s, t&uare |property s, tand u are
integers, 80 |doesnt hold |integers.
g=0 and ¥0. |good for the
subtraction off
rational
Numbers.
4, Existgnce If % is a In su_btraction If % is a In Diyision,
of Identity  |ational Identity rational Identity
number then |Property doespmper then |Property does
there exists a| M0t N0ld g00dhere exists  [NOt hold good,
rational rational
number ‘0’, number 1,
such that such that
P — 4 P q_ Yy
q*t0=0+ ]
where p and q where p & q
are integers. are integers.
Here, then Here, 1is
number ‘0’is called the
called additiv multiplicative
identity. T Identity.
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Name of the " . C
Property Addition Subtraction | Multiplication  Division

5. Existence |For a rational|Inverse If % is a Inverse

of Inverse number % property does{;4tional property doeg
there exixts Poorttﬂgld good|,ymber then Poc;ttﬂzld good
another subtraction of there exists a division of
rational tional rational tional
number €2 ) raiona numberq rationa

g / [numbers. ' [numbers.
such thalg + such tha% %
(7” )=0= -1=9
q G repsq
where p and § are In(;[egers.
are integers, Here an(%
p#0 & g#0. are called the
Here% anan multiplicative
Inverse of

are called the each other
additive
inverse of
each other

Distributive Property

If2 ,_: and— are three rational numbers, then— Xk + )—
(% ?) + (% % ) where p, q, 1, s, t and u are 1ntegers, and

g#0, s#0 and u=0.

SIMILARLY DISTRIBUTIVE PROPERTY UNDER SUBTRACTION:
p,r t. . p_r p_t

g ls—u) = (gxs) - (g*u)

NUMBER LINE:

In order to represent a rational number on a number line,
we first draw a number line and mark a point O on it to
represent the rational number zero. Then we mark positive
integers to the right of zero and negative integers to the left of

zero by showing equal gaps between two consecutive integers.

4 -3 -3 10 7

13115(
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NOTE: 1 Between any two given rational numbers there are
countless rational numbers. The idea of mean helps us to
find the rational numbers between two rational numbers.

2. The reciprocal or multiplicative inverse of the rational

a. c..a _c _
numberzlsglfz ><H = 1.

EXTRA PROBLEMS
1. Verify the property, X(Yx Z) = (X x Y)Z for each of the

following, x=1,y =13 andz==/
g 2 Y 4 12
-5 5 .
3. Represent 77 andﬁ on the same number line. Are the

points representing them equidistant from the origin.
4. The product of two rational numbers is (%218). If one of

the numbers is -4 , find the other.
15 2 1

5. Using the property, simplify ;75 x5+ ;75 X3

EXPONENTB
Intr oduction: Let a be agal number and ‘nibe a positve integer.
Then, axaxaxax......... n times'= a
where ‘d is called the base and 'iis called the pover.
Laws of Exponents:
a) a"x d=4d"
b) a"+ d=d""
0 (a)'=d”
d) a"xb"=(@b"

e) a=1
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9. Algebraic Expressions
Introduction:

Algebraic expression: A combination of constants and
variables connected by fundamental operations (ie: +, —, X,
and + signs) is known as an algebraic expression.

Terms factors and co-efficient:

Take the expression 4x+5. This expression is made up of

two terms 4x and 5.

*Terms are added to form expressions

*Terms themselves can be formed as the product of factors.
*Expressions that contain exactly one, two and three are
called monomials binomials and trinomials respectively.
Polynomial: In general, any expression containing one or
more terms with non - zero coefficients is called a
polynomial.

Identity: An identity is an equality, which is true for all
values of the variables in the equality.

*On the other hand, equation is true only for certain values
of its variables. An equation is not an identity.

Standard Identities:

(1) (atb)?=a?+ 2ab + b?

(2) (a—b)?=a2?-2ab + b

(3) (atb) (a-b) = a2? - b2

(4) (x+a) (x+b) =x2 + (a+b)x + ab

Note:

1. The highest power of a variable is called the degree of the
polynomial

2. Only like terms can be added or subtracted.

3. Product of two monomials:

(Product of their co-efficients) x (Product of their variables)
Extra problems:

1. Which of the following algebraic expressions are pairs of
like terms

a) 4xy, —7yx b) 2x2%y, —-5xy? c) 5a?b?c, —7cb?a?
2. Add 6y’-8y’+y-9 and 3y*-8y’-y+7
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. Subtract 10x+7y from -15x+6y

. Find the product a*(a’+3a’b+b’+3ab?

. By using identity find (x+3)” and (2m+5)°

. By using Identity Find (5x-3)” and (3x-4y)’

. Find the value of given expressions when x=11,
9x’+30x+25

. Evaluate (105)°* and (95)°

. Simplify (2m+3)(2m-3)

FACTORISATION

N O o AW

O

1. Factorisation:

The process of writing an algebraic expression as the
product of two or more algebraic expressions is called
Factorisation.

Ex: 30x’y=2x3 x5 xX xX XYy
Methods of factorisation of an algebraic expression are as follows:
1. Factorisation by taking out a common factor
2. Factorisation by using identities.
3. Factorisation by splitting the middle term of a quadratic
expression of the form ax’+bx+c
Extra Questions:
1. Find common factors of
a) 3m?, 15m"’ b) 25p3q*, 15pq?
2. Factorise: (x+3)+(x+3)y
3. Factorise: 3a(x-4y)-2b(x-4y)
4. Factorise using suitable groupings

a) 4x2+2y%+x2y?+8 b) abc-ab-c+1
5. Factorise:

ija*+2ab+b%-16
6. Factorise:

I) x2-14x+13 ii) m?-3m-70 iii) m?+11mn+18n?

iv) 3x*-10x+8 v) x2+9x+20
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CHAPTER 2-LINEAR EQUATIONS

Introduction :

Equation: An equation is a statement of equality of two
algebraic expressions involving one or more variables.
Linear Equation: An equation having the maximum power
of the variable as one is called a Linear Equation.

Eg: 4x+5=3x+1

Linear Equation in one variable:

A linear equation having only one variable is called a Linear
Equation in one variable. Eg: 3x+7=13

Note: Both sides of the equation can be multiplied by the
same number or divide by the same non-zero number.
*Any term of an equation can be transposed to the other
side with the sign changed.

Extra Questions:

1. Solve: a) 3(x-1)=8
2. Solve:
a) X3 =5 b)4xt7 =1 ¢ 2m +35

X+3 6 9-3x 4 1-3m 8

3. The sum of the digit of a 2-digit number is 12. If the new
number formed by reversing the digits is greater than the
original number by 54, find the original number.

4. Reema’s mother is four times as old as Reema. After 5
years, her mother will be 3 times as old as she will be them.
Find their present ages.

5. Robin is 25 years younger than his father. After 10 years,
their ages will be in the ratio 1:2. Find their present ages.

Ch:3 Understanding Quadrilaterals

Introduction:
1. Polygon: A simple closed curve mage up of only line
segments is called Polygon.
Curves that are polygon:
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Curves that are not polygons:

=g

Classification of polygons:

Convex and concave polygons:

Convex Polygons

}
A

No. of sides/ Classification Sample figure
vertices
3 Triangle A
4 Quadrilateral <>
5 Pentagon <
6 Hexagon C>
7 Heptagon O
8 Octagon O
9 Nonagon O
n n-gon
-




Concave polygons:

< M <

Quadrilateral: A quadrilateral is a closed figure bounded by
four line segments.

It has four sides, vertices and angles.

*The sum of the angles of a quadrilateral is 360°.

Kinds of quadrilaterals:

1. Trapezium: Trapezium is a quadrilateral with a pair of
parallel sides

WAV a

2. Kite: Kite is a special type of a quadrilateral. The sides
with the same markings in each figure are equal.

il S0 <

AB=AD
BC=CD

Parallelogram: A Parallelogram is a quadrilateral. As the
name suggests, it has something to do with parallel lines.

Ex: A B AB || DC

AD || BC

o/ A

PQ| |RS P L M
QS || PR LM || ON
g R OL || NM

o) N

S

Some Special parallelograms are
1. Rhombus 2. Square 3. Rectangle
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Understanding shapes

For properties of Quadrilateral:

Quadrilateral Properties
Parallelogram 1. Opposite sides are equal
2. Opposite angles are equal
3. Diagonals bisect one another
Rhombus: 1. All the properties of
A parallelogram with parallelogram.
sides of equal length 2. Diagonals are perpendicular
to each other
Rectangle: 1. All the properties of
A parallelogram with parallelogram.
a right angle 2. Each of the angles is a
right angle
3. Diagonals are equal
Square: A rectangle 1. All the properties
with sides of equal of parallelogram, rhombus
length and a rectangle
Kite: A Quadrilateral 1. The diagonals are
with exactly two perpendicular to one
pairs of equal another
consecutive sides. 2. One of the diagonals
bisect the other

Exercise

Extra Questions:

1.

Two angles of a quadrilateral are 125° and 93°. The other
two angles are equal. What is the measure of these equal
angles.

The angles of a quadrilateral are in the ratio 1:2:3:4 find
the measure of each angle.

PORS is Quadrilateral in P S
which PS| |QR. If- P=110° )
and - S = 130°, e I8¢

what are the measures
of the other two angles. O R
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. In the following figure, the diagonals of a parallelogram
ABCD intersect each other at ‘O’. X and Y are the points
on the opposite sides of the parallelogram such that XY
passes through O. Give reasons for each of the following.

. OB=0OD b. £/BOY = /DOX

. ZOBY = ZODX

RATIONAL NUMBERS
MCQ:
. Which of the following is not a rational number?
-3 -2 9 y 9

. Which number is called the identity clement for
multiplication of rational numbers?

a) -1 ub) +1 c)O d) 10
. The additive inverse of (-7+4) is
ua)3 b) -3 c) 11 d)-11
. What should be added to T72 to get %
-+ —19 -11 19 1
Ua) 0 b 0 ) %0 d) 25
. The value of(_i9 x 8 ) is
16 15
a) 4 b) =2 tic)=3 d) =2
10 20
. Which of the following rational numbers are smaller than 27?
19 11 7 ,
a) 10 b) 10 ) 1o U d) all of these
. The largest rational number among the following is
2 17 19 y 5

. Which one of these is not a rational number when n =27?
a) % b) N-2 c) (n-2) i d) (n+2)

30 n+2 n-2)

—
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EXPONENTS & POWERS

1. The multiplicative i 1nverse of ( ) 1s
8 . 02
Ua) 57 ) 8 °) 27 )8
5\-8
2. The value of (?) + (?) is equal to
Ga) 1 b) % o) % d) None
3. The value of (5° — 3°) x 2% is
tia) 0 b) 1 c) 32 d) None
4. 35000000 in standard form can be written as
a) 3.5x10° Ub) 3.5x10" ) 3.5x10°  d) 35x10"
5. 0.000032 in standard form can be written as
a) 3.2 x10* b) 32 x 10° iic) 3.2x10° d) None
6. The value of (37'+47)" + 5 is
7 12 7 . .. 60
a) 10 b) 35 C) 5 u d) N
. 3V (3 _(3)°.
7. The value of x for which (?) x (?) = (?) is
a) -1 b) 1 c) 2 ud) 3

8. The scientific notation for the number 235000000000000
is
a) 2.35x10” b) 235x10” ¢) 23.5x10"°  {id) 2.35x10"
9. The scientific notation for the number 0.00000000135is
Ua) 1.35x10° b) 1.35x10° ¢) 13.5x10° d) 13.5x10 7"

ALGEBRAIC EXPRESSIONS

MCQ:
1. The degree of the polynomial 15x3-3x2y?-8y2+25 is
a) 2 b) 3 ic) 4 d) None
2. Which of these is not a polynomial
a)x2+3x+y b 9x3+%x2+5 (i c)% +35 d) None
3. Which of these is not a monomial
a) 6xy?2 +3x b) 4 c) 18x2+6x id) +15

4. (x +3) (x—-95) is equal to

a) x>+ 15 b) X2 -15 c) X*+2x -15 Ud) x>-2x-15
5. The sum of 4x?y and 8x3®y equal of

a) 12x%y b) 12x3y U c) 4x2y+8x3y d) None



6. When 5x2y?z is subtracted from 3x3%y?z, we get

a) 2x b) 5x2y?z —-3x3%y?z
U ¢) 3x3y2z-5x%y2z d) —2x°y*z’*
7. If ab=6 and (a+b)=5, the value of a?+b? is
a) 11 b) 12 tc) 13 d) 16
8) (a +é) ( - %) is equal to
a) (a2+é) U b) (az—é) c) a? +é d)a—%
9. The coefficient of x in —8y?2x is
a) 8 b) -8 U c) —8y? d) 8y?
FACTORISATION
1. Factors of x? — 4x — 12 are
a) (x+6)and (x —2) b) (x - 6) and (x — 2)
Uc) (x-6)and (x +2) d) (x+ 6)and (x +2)
2. 2 is a factor of the polynomial
a) Sxy b) 10x2 -17x + 14 ic) 2 d) 9x>-8y*
3. Common factor of abc and pqr is
a) 0 U b) 1 c) abcpqr d) ap
4. On Factorising 6m-12n, we get
Ua) 6(m-2n) b) 6(n—2m) c¢) 2(m-2n) d) 2(n—2m)
S. X2+ (a+ b)x + ab is equal to
a) (x—a)and (x — b) b) (x +a) and (x + b)
c)(x—a)and (x +b) 0 d) (x+a)and (x +b)
6. 92 — 82 equal to
a)l b) 145 c) 72 ud 17
7.5z2-801is =
a)z-16 b)z+16 U c) 5(z>-16) d) 5(z+4) (z—4)
8.72%-121 =
Ua)(z+11) (z-11) b) (z-3) (z+3)

c) (z+11) (z-13) a) (z+11) (z-13)
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9. Factors of 8x?>-18x+9 =
a) (4x + 3) and (2x + 3) b) (8x — 3) and (X + 9)
c) (8x —3) and (x + 3) U d) (2x — 3) and (4x — 3)
10. Common factors of 16yz and 12yz
U a) 4yz b) 3 ¢)4yz d) 4z
LINEAR EQUATIONS
MCQ

1. Which of these is not a linear equation?
8) 3x +5=12 U b)4x*=16  ¢)y+z2=0 d) > =7
2. The solution of equation 3x —1=5 is
ia) 2 b) -2 c) 3 d) None

3. A number when multiplied by 5 Exceeds itself by 32. The
number is
a) 3 b) 4 c) 6 ud) 8

4. A number when added to its one-fourth gives 40. The
number is

a) 16 iib) 32 c) 36 d) 40

5. Anumber when added to its half gives 72. The number is
ta) 48 b) 84 c) 90 d) none

6. In a class of 92 students, three — fourths are boys and the
rest are girls. The number of girls are
ta) 23 b) 69 c) 33 d) 46
7.The age of Rita and Gita are in the ratio of 5:7. Four years from
now, their ages will be in the ratio of 3:4 their ages are

a) 12 years, 20 years U b) 20 years, 28 years
c) 28 years, 36 years d) none
8. Solution of the equation 7y=14 is
a)y=3 ib)y=2  oy=y  dy=-3
9. What should be added to 8 to get 14x+36y
a) 7x+8y Ub) 6x+19y c) 6x+18y d) 18x+6y

10. If 0.3x+0.5 = 0.4x-0.2 the is
a) 3 b) 5 tc)7 d) none
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UNDERSTANDING QUADRILATERALS

. A quadrilateral can have

a) 4 Acute angles b) 4 obtuse angles
c) 3 obtuse angles  d) 2 right angles & 2 obtuse angels

. The diagonals of an isosceles trapezium are

a) unequal b) equal c)a&b both d)none
. A quadrilateral which is both a rectangle and a rhombus
is a

a) square  b) parallelogram c) kite d) trapezium
. Adjacent angles of a parallelogram are

a) equal b) complementory

c) supplementary d) none

. The angles of a quadrilateral are in the ratio 1:2:3:4
is called a

a) 36° b) 72° c) 144° d) none

. The bisectors of two adjacent angles of a parallelogram
intersects at

a) 30° b) 45° c) 60° d) 90°

. In a square ABCD, AC = (2x+3) and BD = (3x - 5).
Then the value x of is

a) 4 b) 5 c) 6 d 8

. A regular polygon is

a) Equilateral b) equiangular

c) a and b both d) none

. In a parallelogram if each angle is equal, then it is
called

a) square b) rectangle
c) rhombus d) botha &b




SCIENCE

LN 1 CROP PRODUCTION AND MANAGEMENT

I. Answer briefly:
1. Gve two example of each (a) Kharif cop (b) Rabi crop.
Ans: (a). Kharif cop: Paddy, Maize
(b) Rabi ap: Wheat, gram.
2. Wite 2 uses of hoe.
Ans: Hoe is a simpledol used br (i) removing weeds and
(i) loosening the soil.
3. Name the éstivals associatedwith the harvest season.
Ans: Pongal, Baisakhi, Holl, Divali, Nabarya and Bihu.
4. Explain how ertilizers are different from manure.

Fertilizer Manure

1. A ertilizer is an inorganic salt| Manure is a natual substance
obtained by the decomposition
of cattle dung, human vaste
and plant residues.

2. Itis prepared in factories It can be prepared in the fields.

3. It does not povide arny It provides a lot of humus ©
humus to the soll the soil

4. They are very rich in plant It is relatively less rich in plant
nutrients lik e nitrogen, nutrients.

phosphorus and potassium.

5. Its excessve use causes ater | It protects the ervironment and
pollution helps in recycling farm waste.

5.1f wheatis sownin the Kharif seasonwhatwould happen,Discuss?
Ans:If Wheat issown inthe Kharif season (from Juneto September),
the whole crop might get destroyed because of many factors such as
lack of optimum temperature, adaptability, availability of pests, etc.
Kharif season includes the rainy season, which is not favourable for
the growth of wheat crop. Therefore, wheat crop should not be sown
duringthisseason.
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6. Explain how soil gets a#fcted by the continuous plantation of cops
in a field.

Ans:*If continuous plantation of cropsis donein the fields, then the soil
will become poor in necessarynutrients like nitr ogen, phosphorus,
potassium,etc.,

*Plants require nutrients for their proper growth and functioning.
*When a firmer continues to gow crops one after the otherthen all
nutrients available in the soil gets educed and the cop yield
decreases automaticalif.

7. What ae weeds? How can & control them?

Ans: *Weeds ae unwanted wild plants that grow in the field.

*Weeds compeg with the crop for nutrients, light and space.

*As a lesult, crop plants get lesser nutrients, light and spacef their
development.

Some important weeding methods ae:

*Weeds can be conwlled using weedicides. It is a chemical, kich is
sprayed in the fields b kill all available weeds. Veedicides ae not
harmful to crops. Ex: 2, 4-D (Dichlar phenaxy acetic acid)

*Tilling before sowing of cops also helps in emoving weeds. Tilling
uproots the weeds . The best timeof the removal of weeds is befre
they produce flowers and seeds.

*The manual method of emoving weeds is with the help of a ‘Khurpi’
It involves regular uprooting or cutting of weeds close @ the ground.

Il Answer in detail:

1. White a paragraph in your own words on each of thedllowing:

(a) Preparation of soil  (b) Sowing  ©) Weding d)Theshing
Ans: (a) Peparation of soil: This is the first sep bebre growing a
crop. One of the most important task in agricultu is to turn the soil

and loosen it This allow the 0ot to penetrate deep inb it. The
loosening of the soil helps in the grwth of several soil microbes,
earthworms etc., which enrich the soil with humus and other
essential nutrients. The pocess of turning and loosening is called
ploughing. This is done using a ploug hoe and cultvators.

(b) Sowing: This is the pocess of placing the seed in or on the sodrf

future growth. Good quality seeds & seleced which improves the
net yield of the ciop. The taditional tool which is used ér sowing
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seeds is shaped lik a funnel. Nowdays, the seed drills ae used br
sowing with the help of tractors. Thistool dispenses seeds unirmly
and sows seeds at poper depth and distance. Sowing seedy bhis
method saves time and also potects the seed from birds.

(c) Weeding: Undesiable plants that gow along with the crop are
known as weeds. Véeding is the pocess of emoving these weeds.
Xanthium, Rarthenium, etc., ae some common \eeds. Véeds
compete with the ciop for nutrients, light and space. This in turn,
reduces their pioductivity.

Weeds can be contilled either by using weedicide or by tilling
before sowing of cops or by using ‘Khurpi’ which helps in upiooting
or cutting of weeds close ¢ the ground.

(d) Threshing: It is the pocess sepaating grains or seeds fom chaff,

after harvesting the ciop. It is usualy carried out with the help of a

machine known as ‘combine’ This machine is a combined haester

and thresher. It harvests plants as well as cleans gains.

2. What is irrigation? Desdbe two methods of irrigation which

consene water.

Ans: Suppy of water to crops at appopriate intervals is called

irrig ation.

The time and frequency of irrigation varies accoding to different

seasons, aops and soil types.

*Two methods of irrigation which help in consenation of water are

(i) Sprinkler system: This system is mote useful on un&en land,

where sufficient water is not available. In this method, vater is

supplied using perpendicular pipes® one or moe central locations

within the field. When water is allowed to flow under high pressure

with the help of a pump, it gets sprinkled on the @ps.

(i) Drip system: In this gystem, water is ddivered at or near the pots

of plants drop by drop. This is the most efficient method of irrigtion

as there is no wastage of vater at all. This method isSmportant in

areas where water availability is poor.

. Selectthe correctword fromthe following list andfill in the blanks.
[float, water, crop, nutrients, preparation]

a. The same kind of plants @gwn and cultivated on a lage scale at a

place is called cop.

b. The first sep bebre growing crops is_preparation of the soil.
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c. Damaged seedsould float on top ofwater.

d. For growing a crop, sufficient sunlight and vater and nutrients
from the soil ale essential.

IV. Match the éllowing:

1. Kharif crops - Paddy, maize
2. Rabi cops - Wheat, gram, pea
3. Chemical értilizers - Urea and super phosphate
4. Organic manure - Animal excreta, cow dung, urine and
plant waste
V. Arrange the baes in the pioper order.
Questions:
Sending crop to o
sugar factory Irrigation Harvesting Sowing
Preparation of Ploughing the Manuring
soil field
Ans:
Preparation » Ploughingthe Lyl sowing || Manuring
of soil field

—p] Irrigation | | Harvesting || Sending crop to sugar factory

VI. Complee the cross word puzzle.

Down:

1. Pooviding water to the crops (Irrigation)

2. Keeping crop grains for a long time under pioper condition on a
large (Strage)

3. Certain plants of the same kind gwn on the large scale. (cop)

Across:

1. A machine useddr cutting of the matured crop (Harvester)

2. A mbi crop that is also one of the pulses (@m)

3. A process of sepadating the grain from chaff (winnowing)

VIl. MCQ:
1.Whichoneofthe following condition is not essentialto grow maize?
a. High emperature b. Humidity

c. Low emperature d. Rain&ll
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2. Which of the éllowing tools would a farmer use toremove weeds
from the field?
a. Hoe b. Plough c. Ae d. Cultvator.
3. Which of the bllowing is not true of fertilizers?
a. The increase the yield.
b. Their excessive use disturbs the balance of nutrients in soll
c. They are geneally used in small quantity
d. They are ervironment friendly.
4. Gven below ae statements about the harmful e#cts of weeds on
crop plants.
i. They interfere in harvesting
ii. They help crop plants to giow healthily.
iii. They competewith crop plantsfor water, nutrientsspaceand light.
iv. They affect plant growth.
Choose the corect combination of statements.

a. (i), (iii) (iv) b. (iiijonly

c. (iii) (iv) d. (i) (i) (iii) (i v)
5. The pocess of loosening and turning of soil is called.

a. Irrigation and Manuring b. Digging and Winnowing

c. Tilling and Ploughing d. Harwesting and storage
6. The monsoon season in our country is during the months.

a. April to Decenber b. June to Segimber

c. November to March d. January to Mg

7. The sptem of irigation where water is supplied drop by drop
near the roots of plants is called.

a. Pulley system b. Drip system
c. Sprinkler system d. Lever system.

8. Name the pactice bllowed for large scale earing of farm animals.
a. Hanesting b. Stoage  c. Irrigation d. Animal husbandry
9. Name the tool usd with a tractor for sowing in a field.
a. Hoe b. Khurpi c. Ae d. Seed drill
10. Which chemical is used as aeedicide?
a.2,4-D b. 3, 4-D c.4,2-D d. 4, 2-E
11. The thee parts of plough ae plough shae, plough shaft and
a. Plank b. Beam c. Crumbs d. Hoe
12. The ploughed fiedl may have big pieces of soil called
a. Plough  b. Crumbs c. Weeds d. Seed drill
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13.\kry tall cemented tanks used ¢ store grains at large scale &
called

a. Silos b. Animal husbandry c. cultivator d. Khurpi
14. Which dried leaves ae used br storing grains?

a. Neem b. Reepal ¢. Mango d. Mint
15. Raddy is grown only in the season.

a. Summer b. Winter c. Rairy d. Spring
16. Which is not a értilizer?

a. Uea b. Potash c. NPK d. Copper sulpag¢

17. Name the bacteria wich is present in the nodules of the oots of
leguminous plants.

a. Rhizobium b. Rungi c. Virus d. Parasite
18. Which device is used b do manual hanesting?

a. Hanester b. Sickle c. Combine d. Khurpi
19. Cod Iver oil is got from

a. Meat b. Egg c. Fish d. Chiclen
20. Silos and ganaries ar used to potect the grins from

a. Hens b. Rests c. Covs d. Cats

Ln-2 : MICROORGANISMS: FRIEND AND FOE

I. Answer briefly:

1. Can micoorganisms be seen with the nag&d eye? If not how can
they be seen?

Ans: *Microorganisms ae too smallin size that they cannot be seen
through naled eyes. Thg can be seen with the help of a magnifying
glass or micioscope.

*For example, Frungus that giows on bread is so small, that it can be
seen ony with the help of a magnifying glass or miascope.

2. Name the micoorganisms which can fix atmospheric nitiogen in
the soil.

Ans: Bacteria such as Rhizobium and certain blueagn algae
present in the soil can fix atmospheric nitngen and comert it into
usable nitrogenous compounds Wwich can be easi utilized by plants
for the synthesis of pant proteins and other canpounds.

3. Write a short paragraph on the harms causedyomicroorganisms.
Ans: * Micoorganisms ae harmful in marny ways. Some of the
microorganisms cause disease in human beings, plants and animals.
Such disease-causing mioorganisms ae called pathogen.
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*In humans, bacteria cause diseases such as Cholera and

Tuberculosis. Virus causes Common cold and Chak pax, etc.,

*In animals, the bot and mouth disease in cattle is causedy/la virus.

*Also, several microbes cause diseases in plants.ofexample, the

productivity of wheat, orange, apple, etc isaduced due tomicrobial

diseases in plants.

*Some micioorganisms such as fungus, pduce taic substances

which are poisonous and spoil ourdod. Br example, bread when

left unused under moist conditions, gets spoilt ¥ fungus, poducing a

white cotton-like growth on the bread.

4. Which micro organism act as decomposer? How is this adtly

useful to us?

Ans: * Micioorganisms such as bacteria and fungi helpyb

decomposing the tissues of dead ganisms b get their food. When

they get decomposed, the nutrients fsm these dead orgnisms ae

being released inb the soil which in turn replenish the soil.

5. Write a note on ole of Rhizobium in maintaining soil értility .

Ans: Rhizobium bacteria ag capable of cowerting the atmospheric

nitr ogen into nitrates and nitrites thereby increasing soil értility .

6. Microbes will never grow in foods kept inside refrigerator. Do yu

agree? Wh?

Ans: Refrigeration only delays but do not completey rule out the

possibility of food spoilage. If thedod is taken out of the freezer the

microbes start giowing again.

7. Differentiate Food presenation and Food poisoning.

Ans:Food Preservation: Processing of food to prevent their spoilage and

retaintheir nutritivevaluefor longperiodsiscalled food preservation.

Food Roisoning: Food has to be peserved for later use and should be

kept fresh. If micobes gow on it, the bod get spoilt and mg cause

food poisoning.

[I. Answer in detail:

1. What ae the major goups of microorganisms?

Ans: Thek are five major groups of microorganisms.

Bacteria  *They are single celled dsease-causing miaorganisms.
*They can be spial or rod-shaped.

Algae *They include multicellular, photosynthetic organisms
such as Spiogyra, Chlanydomonas, etc.

Protozoa * They can be unicellular or multicellular
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*They include organismssuchasAmoebaPlasmodium etc.
Virus * |t is also called virion (Non-lving state). Thg grow &
reproduce onl inside the host organism which may be a
bacterium plant or animal.
Fungi * They are mostly multicellular disease-causing micobes.
Bread moulds ae common eample of fungi.
2. Write 10 lines on the usefulness of mi@organisms in our lives.
Ans: Usefulness of miayorganisms in our lives.
(1) Bacteria present in our intestine, heps in proper digestion.
(2) The Bacteium lactobacillus promotes the brmation of curd
(3) Rhizobium present in the 10ots of leguminous plants fix nitogen
from air and suppy nitrogen compounds to them.
(4) Microbes ae used to educe pollution. Some mi@organisms
decompose the orgnic waste and dead plants and animals int
simple substances and clean up the gmonment.
(5). Microorganisms ae also used in winemaking, baking, pickling
and other food making processes.
(6) Microorganisms ae used br the manufacturing of antibiotics.
Antibiotics are chemicals poduced ky microorganisms to kill
bacteria, virus, et., Rnicillin is an antibiotic made from penicillium.
(7) Alcoholic fermentation by yeast is widely used in the peparation
of bread and wine
(8) Many vaccines ae prepared from microorganisms. These
vaccines ae given to children to protect them from diseases.
(9) Certain microbes ae also used in the biological gatment of
sewage and industrial effluents.
(10) Yeast is used in making idlis, bhatuas, biead, pastries and caés.
3. What ae antibiotics? What pecautions must be takn while taking
antibiotics?
Ans: *Antibiotics: Medicines poduced by certain microorganisms
to kill or stop other disease-causing miar-organisms.
*Precautions to be talen while using antibiotics
(1) Antibiotics should be taken under the supervision of awell-
qualified doctor.
(2) Course of antibiotics should be completd as per the pescription
given by the doctor.
(3) Antibiotics should be taken in the right amount and at the rigpt
time. A wrong dose of the antibiotics ma&s the drug ineféctive.
Also, exccessive consumption of drugs mg kill the useful bactera.
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4. Mention some common human diseases with mode oftismission

caused ly microorganisms and geneal preventive measues.

Ans: Human Diseases:

*Bacteria: Tuberculosis(Air), Cholema(water/f ood), Typhoid(w ater)

*Virus: Measles(Air), Chicken pax(Air, contact), Blio(Air, Water)
Hepatitis (Water)

*Protozoa: Malaria (Mosquito)

Geneal preventive measues:

*Keep the patient and their personal belongings in completisolation.

*Maintain personal hygiene and good sanitary habits.

*Consume coolkd food and boiled drinking water.

*Use mosquitonets and epellents.

*Avoid water stagnation in oder to prevent mosquito breeding.

[I. Fill in the blanks:

1. Microorganisms can be seen with the help of mioscope

2.Bluegreenalgaefix nitrogen directly fromair toenhancefertility of soil.

3. Alcohol is poduced with the help of yast

4. Cholen is caused b bacteria.

5. The micioorganism that corvert milk into curd is lactobacilus.

IV. Match the éllowing:

1. Bacteria - Causing cholea
2. Rhizobium - Fixing nitrogen
3. Lactobacillus -  Setting of cud
4. Yeast - Baking of bread
5. a Potozoan - Causing malaria
6. Virus - Causing AIDS
V. MCQ:
1. Meast is used in the poduction of
a. Sugar  b. Alcohol c. Hydrochloric acid  d. Oxygen
2. The bllowing is an antibiotic
a. Sodium bicarbonag b. Stieptomycin
c. Alcohol d. Yeast
3. Carrier of malaria-causing potozoan is
a. Female Anopheles Mosqui b. Cockoach
c. Housefy d. Butterfly
4. The most common carrier of communicable disease is
a. Ant b. Housefy c. Dagonfly  d. Spider

5. The bead or idli dough rises because of
a. heart b. Grinding c. Gowth of yeast cells d. Kneading
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6. The pocess of comersion of sugr into alcoholis called
a. Nitrogen fixation b. Moulding c.dfmentation d. Infection.
7. When an antigen enters the bad the body produce proteins called
0 destroy it.
a. Antibiotic b. Antibodies c. Antiseptic  d. Crumbs
8. Which is a unicellular fungus?

a. east b. Aedes c. Bacillus d. Paramecium
9. Who made the first accine?
a. Renicillin - b. Renicillium  c. Edvard Jenner d. Henry
10.Whichcankill disease causingmicrobeswithout causinginjurytobody?
a. Antibiotic b. Antiseptic  c¢. Antibodies d. Bacterium
11. Foot and mouth disease of cattle is caused/b
a. Rungi b. Virus c. Algae d. None of these
12. Which of the 6llowing is not a fungi?
a._ Rramecium b. Bread Mould
c. Renicillium d. Aspergillus
13. Plasmodium is a human pasite which causes
a. Dysentry b. Sleeping sickness
c. Malaria d. All of the abwe
14. Chiclen pax is caused b
a. Virus b. Rungi c. Rstozoa d. Bacteria
15. Carrier of dengue virus is
a. House ff b. Dragon fly

c. Female Aedes Msquito  d. Butterfly
16. Plant disease citrus carde is caused ly

a. Virus b. Rungi c. Bacteria d. None of these
17. The algae commom used as értilizers are called

a. staplylococcus b. diatoms

c. Blue geen algae d. None of these

18. east produces alcohol and carbon dixide by a process called
a. vaporation  b. Rspiration ¢, Ermentation d. Digestion.
19. east multiplies by a process called

a. Binary Fission b. Budding
c. Spoe formation d. None of these

20. The dead stat of virus (outside the host) is called
a. Virion b. Fungus c. Acebbacter d. none
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Ch-12 FRICTION

I. Answer in short:

1) Suppose pur writing desk is tilted a little. A book lept on it starts

sliding down. Shav the direction of the frictional force acting on it
Frictional force acts opposite @ the motion of the book.

Feva n{ Frichion

7

Motion 0’; f éﬂu‘ﬁ .

2. You spill a buclet of soajy water on a mable floor accidently.
Would it make it easier or moee difficult for you to walk on the floor?
why?

It would be difficult to walk on the floor because

* Soapy water fills the irregularities on the floor thereby reducing
the friction considerably.

* Hence, the éet cannot hae a proper grip with the floor surface
which results in the chances ofdlling.
3. Explain why sportsmen use shoes with spi&s.

Spikes increase friction and gve better grip with the ground. It
avoids slipping of sportsmen while playing or running.
4. What is friction? What ae the two properties of friction?

* Friction is the force that opposes the motion of an object

* Two properties of friction are

i) Friction always opposes motion.

i) Friction produces heat
5. Mention two simple methods ér reducing friction.

* Polishing the surface

* Lubricating the surface

* Using wheels and ball bearings

* Streamlining
II. Answer in paragraph:
1.lgbal hasto pushalighter box and Seeméhasto pushasimilar heavier
box onthe samefloor. Whowill haveto apply alarger forceandwhy?

* Fictional force is directly proportional to mass.

* Seema will hae to apply larger force since she will gperience
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more frictional force because heay object will be pressed had
against the opposie surface and poduces mok friction.
2. Explain why sliding friction is less than the static friction:

Siding friction is always less than static friction because two sliding
objectsfind lesstimeto get interlocked against each other’sirregularities
of surfacesasaresult of which they experiencelessfriction.

3. Explain why objects mwing in fluids must have special shapes.

* When a bog moves through a fluid, it experience an opposing

force which tries to oppose its motion thiough the fluid.

* This opposing brce is known as the ‘dag orce!

* This frictional force depends on the shape of the body. By giving
objects a special shape, the force of friction acting on it can be
minimised.

* Hence, it becomes easienf the body to move through the fluid.

4. Explain about spring balance

* Spring balance is a dace used 6r measuring the brce acting on
an object

* |t consists of a coiled spring Wich gets stetched when a brce is
applied to it.

* Stretching of the sping is measued by a pointer moving on a
graduated scale.

* The reading on the scale gies the magnitude of thedrce.

[ll. Answer in detail:
1. Gie examples to shav that friction is both a friend and a be.
Friction as a friend:

* Friction betw een brake pad and the bake disc helps 6 reduce
the speed of ehicle

* We are able to valk because of friction.

* Friction betweenthetip ofthe penandapaperallowsusto write.
Friction as foe:

* Friction causes unnecessary @astage of energy andeduces the

efficiency of machine.

* |cy roads very smooth and cannot povide sufficient friction to
our feet.

* Tyres and soles of shoes®&ar out because of friction.

* Friction betw een the diferent parts of machines poduces heat
This can damage the machines.

2. What ae the causes of friction?

Following are the causes of friction.
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* Roughness of tvo surfaces in contact and intelocking of the
iregularities between the surfce.

* Nature of surface ie. Smooth oraugh.

* Shape of surlce (eg. flat or cured)

* Impurities between the surfice (eg. adding lubricant betwen
two rough surface deceases friction)

* Pressure of two surfaces (ie. how had the two surfaces ae
pressed bgether)

* Mass of the bog of surfaces in contact

IV. Fill in the blanks:

1.

P <ODWN

Friction opposes the motion between the surface in contact with
each other.

. Friction depends on the_natue of surace.

. Friction produces_heat

. Sprinkling of powder on the carrom board reduces friction.

. Sliding friction is less than the static friction.

.MCQ:

. Four children were asled to arrange brces due to olling, static

and sliding frictions in a deceasing oder. Their arrangements ae
given below choose the corct arrangement

a) rolling, static, sliding b) rolling, sliding, static

c) static, sliding, olling d) static, sliding, wlling

. Alida runs her toy car on dry marble floor wet marble floor,

newspaper and bwel spread on the floor The brce of friction
acting on the car on diférent surfaces in inceasing oder will be.
a) Wet marble floor, dry marble floor, newspapers and awel,

b) Newspaper towel, dry marble floor, wet marble floor.

c) Towel, newspaper dry marble floor, wet marble floor.

d) Wet marble floor, dry marble floor, towel, newspaper

. The frictional force exerted by fluids is called

a) drag b) sliding friction
¢) rolling fraction  d) none of these

. Friction betw een two flat surfaces cannot beeduced ty

a) greasing b) polishing
¢) using ball bearing d) decreasing the aea

. Lubrication of the moving surface

a) removes friction b) reduces friction
c) increases friction d) has no eféct on friction
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6. A flying machine ofering the least frictional force should be

a) irrigation b) tree-like

¢) symmetrical with many arms d) streamlined
7. Rolling friction is always less than the

a) sliding friction b) static friction

¢) both (a) and (b) d) fluid friction

8. Which of the bllowing is not an efct of friction?
a) moving objects slow davn b) moving objects stop

¢) moving objects wear off d) moving objects have weight
9. Which device is used ér measuring the brce acting on an object?
a) spring balance b) measuring jar
¢) weighing machine d) scale
10. Fiction is caused ly the on theedurfaces in contact
a) regularities b) irr eqularities c) both

d) none of these
11. Fiction can also produce

a) heat b) oll C) grease d) graphite
12. Shoes a grooved in order to give better

a) beauty b) desire c) arip. d) situation
13. Which players rub their hands with soil for a better grip?

a) kho-Kho b) chess c¢) kabhadi d) running
14. The tyres of the ehicles ae treaded to the friction .

a) increase b) decrease

c) either increase or decease d) none of them

15. We should reduce friction in order to increase )
a) maintenance b) efficiency  c) pressure d) tempenture
16. Substances with reduce friction are called as

a) lubricants b) gases c¢) sand d) motion
17. Which reduces friction?
a) rolling b) kicking ¢) buying d) running

18. Which kind of friction eist in ball bearing usage?

a) fluid friction  b) rolling friction ~ c) both d) none of these
19. ‘Steam lining’ a bod reduces friction by

a) reducing roughness b) reducing the aea of contact

¢) reducing mass d) None
20. Which of the dllowing is not a lubricant?

a) sand paper b) cream C) grease d) powder
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Ln 4: MATERIALS: METALS AND NON METALS

I. Answer in short :
1. Gve reasons 6r the following:
a. Aluminium foils are used to wiap food items.
Ans: Aluminium foils are used to wiap food items because aluminium
metal is malleable. Theefore it can be beaten int thin foils.
b. Immersionrodsfor heatingliquidsaremade up of metallicsubstances.
Ans: Metals ae good conductos of heat and electricity Theefore,
immersion rods for heating liquids are made of metallic substances.
c. Copper cannot displace zincdm its salt solution.
Ans: A metal can displace a lesgactive metal from its salt in an
agueous solution. But zinc is mar reactive than copper Theefore
copper cannot displace zinc fom its salt solution.
Cu(s) +2Zn SQ(ag——-a No reaction
d. Sodium and Btassium are stored in kerosene.
Ans: Sodium and Btassium are stored in Kerosene because thgare
highly reactive elements. Thg can eas¥y catch fire even when in
contact with air.
4. What happens when
a) Dilute sulphuric acid is poured on a copper plate.
b) Iron nails are placed in copper sulphate dation. Write word
equations of theeactions involved.
Ans: a) When dilute syphuric acid is poured on a copper plate, thex
will be no reaction between copper and dilute slphuric acid as
copper is less eactive and hence no psducts will be formed.
b) Iron being more reactive displaces copper fom copper sulphate
solution. In this reaction, the blue colour of copper sulpha& fades and
there is deposibn of copper on the ipn nail.
Fe + CuSO —_— Fe SQ + Cu
(lon) (Copper Sulphate) ofiiSulphate) (Copper)
5.0neday Reetawentto ajeweller’'s shopwith her mother. Her mother
gave an old gold jewellery to the goldsmith to polish. Next day when
they brought the jewellery back,they found that there wasaslight loss
in its weight. Canyou suggestareasonfor the lossin weight?
Ans: To polish a gold ornament it is dipped in a liquid called aqua
regia (a mixture of hydrochloric acid and nitric acid). On getting the
environment of aqua, egia, the outer lger of gold dissoles and the
inner shiny layer appears.
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The dissoVing of the layer causes aeduction in the weight of the
jewellary.
6. What ae sonotwous materials?
Ans: Materials which make aringing (metallic) sound when hit hard
by some other materials are called sonorous while non-metals are
not sonorous.
II. Answer in paragraph:
1. Can gu store lemon pickle in an aluminium utensil? Explain.
Ans: Lemon pickle cannot be stad in aluminium utensils because
lemon pickle contains acids, Wwich can react with aluminium (metal)
liberating hydrogen gas. This can lea® the spoiling of the pickle.
2. Some poperties are listed in the following table. Distinguish
between metals and non-metals on the basis of the guerties. ans:

Properties Metals Non-metals
Appearance Lustrous Dull
Hardness Hard Soft
Malleability Can be beaten Cannot be beaten

into thin sheets into thin sheets
Ductility Can be dawn Cannot be dawn
into wir es into wir es
Heat conduction Good conductos Poor conductor
of heat of heat
Conduction of Good Conduatrs Poor conductors
Electricity electricity of electricity

3. What is an allg? Describe.

Ans: Mixtur e of two or more than two metals in order to get desired
properties is called an alloy. For example, stainlesssteelis an alloy of
iron, chromium and nickel. Stainlesssteelis very hard and also does
not rust. So,it is usedto make utensils, surgicalinstruments and many
other products. OtheralloysareBrassBronze,Gunmetal etc.

lll. Answer in Detail:

1. Saloni took a piece of burning chaoal and colleced the gas
evolved in a test tube.

a. How will she find the natue of the gas?

b. White down word equations of all the eactions taking place in
this process.
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Ans: a) Add aéw drops of water in the test tube containing gas. Ne
cover the test tube and shak it well. After shaking, test the solution
with blue litmus and red litmus. It will turn blue litmus red. Thus the
gas is acidic in natue.
b) Carbon reacts with axygen to brm carbon di oxide gas.
C + o, _— Co
(Carbon fom charcoal) (aygen) (Carbon dxile)
Carbon di «ide reacts with water to form carbonic acid, wich turns
blue litmus paper red.
Co, + HO —— ECQ
(Carbon di aide) (water) (Carbonic acid )
(Tirns blue litmus red)
2. Gve some uses of non-metals.
Ans: Following are some uses of non-metals:
i) Oxygenis usedby plantsandanimalsfor respiration. It alsosupports
the process of combustion.
i) Chlorine is used as disinéctant.
iii) Compounds of nitrogen provide nutrients to soil and plants.
Fertilizers made of non-metallic compounds ag extensively used in
agriculture.
iv) Sulphur is used in germicide and as an antiseptioif skin
treatment. It is also used in cckers.
3. Compae the chemical poperties of metals and non-metal.

Metals Non-metals
Metals react with oxygen Non-Metals react with oxygen
to produce ides which to produce ides which
are alkaline in nature are acidic in natue
Metals react with water Non-Metals do not eact
differently to produce with w ater
oxides and tydroxides.
They react with acids to Non-metals do not
produce H gas react with acids.
More reactive metals Non-metals do not show
displace the less eactive any such reaction.
metals from their
compounds in aqueous solution,




IV. Fill in the blanks:
1. Phosphorus is aery reactive non-metal.
2. Metals ae good conductos of heat and electricity
3. Iron is_ more reactive than copper
4. Metals eact with acids to poduce hydrogen gas.
5.Theonly metal,mercuryisfoundin liquid stateatroomtemperature.
V. Write True or False:
1. Geneally non-metals react with acids.-Rlse
2. Sodium is a gry reactive metals.-Tue
3. Copper displaces zinc &m zinc sulphate saltion - False
4. Coal can be dwn into wires - Rlse
5. Potassium is stoed in water - Ralse.
VI. MCQ
1. Which of the bllowing can be beagn into thin sheets?
a. Zinc b. Phosphorus c. Sulphur d. Oxyen
2. Which of the bllowing statement is correct?
a. All metals ae ductile. b. All non-metals ae ductile
c. Geneally metals ae ductile. d. Some non-metals & ductile.
3. Which of these is a non-metal?

a. lron b. Sulphur c. Zinc d. Aluminium
4. Which of them is the best conductor oélectricity?

a. Gold b. Siler c. Copper d. Aluminium
5. Fom which of these metals ‘stel’ is made?

a. Copper b.lIron c. Gold d. Siver

6. Which of the bllowing is not malleable and ductile?

a. Siver b. Copper c. Sodium d. Iron
7. Which of them is a good conductoof electric current?

a. Sulphur b. Gaphite c. Silicon d. Diamond
8. Mention the metal which is used in the peparation of bullet proof
alloy steel?

a. Zirconium b. Iron c. Siver d. Zinc
9. Which of the 6llowing is corrosion-resistant?

a. Chlorine b. Phosphorus c. Bromine d. lodine.
10, Which of the éllowing is corrosion-resistant?

a. Siver b. Iron c. Copper d. Aluminium
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11. Metals eact with oxygen on burning to poduce metal xides
which are
a. Acidic in natue b. Basic in natue
c. Neither acidic nor basic in natus
d. Both acidic and basic in natwe
12. The metal vhich reacts violently with cold water is

a. Magnesium b. Sodium c. Zinc d. Copper
13. A liquid metal is
a. Nitrogen b. Bromine c. Mercury d. lodine

14.Which metal can not be stagd in paclets?
a. Sodium b. Calcium ¢. Magnesium d. Zinc
15. Which metal is not coroded by air, water and acid?

a. Copper b. Zinc c. Aluminium d. Gold
16. Identify the non-metal

a. Gold b. Siver c. lodine d. Copper
17. Which metal is soft?

a. Rtassiumb. Carbon c. Zinc d. Magnesium
18. Which non-metal has the metallic luste&

a. Sulphur b. Oxygen c. lodine d. Phosphorus

19. Which property of metals male them useful as ringing bells?
a. Lustre b. Sonority c. Ductility d. Malleability
20. What ae the elements called \wich can neither fit with metals

and non-metals?
a. Sonority b. Melting point c. Metalloids d. Lustre

Ln-6 COMBUSTION AND FLAME

I. Answer in short:

1. List conditions under which combustion can tale place.

Ans: The conditions equired for combustion to take place ae:

*Presence of a fuel *Air (or oxygen)

*Ignition temperature (minimum temperature at which a substance

catches fies)

2. Gve reasons:

a. Water is not used b control fires involving electrical equipment

Ans: Water is a conducbr of electricity. So it can easilconduct
electric cunt and cause danger of electric shocks or sher
cicuits. Theefore, water cannot be useda control the fire
imolving electrical equipment
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b. LPG is a better domestic fu¢han wood.
Ans: LPG is a better donstic fuel as it does not poduce smole and
unburnt carbon particles, hich cause espiratory problems.
c. Raper by itself catchesfire easiy whereas a piece of paper
wrapped aound an aluminium pipe does not
Ans: Rper by itself catchesfire easiy because it has low ignition
tempeature but when wrapped aound an aluminium pipe,
its tempeature is lowered as the aluminium metal absorbs
heat which is suppliedtpaper So it does not catch fe.
3. Name the unit in which the calofic value of a fuel is gpressed.
Ans: The calorific alue of fuel is &pressed in kilojoules per
kilogam [KJ/kg]
4. Explain how ©, is able to contol fires.
Ans: Being hewier the oxygen, CQcovers the fire like a
blankt. Since the contact beteen the fuel and aygen
is cut off, the firis contolled.
5. Which zone of a flame does a goldsmith usar imelting gold
and siver and why?
Ans: A gold smith uses the oet part of the candle flamedr melting
gold and siker because in this zone, the tempature is
the highest hich helps © melt these metals easjl
6. In an experiment, 4.5Kg of a fuel ws completey burnt. The heat
produced was measued to be 1,80,00KJ. Calcula the calorific
\alue of the fuel.
Ans: The Calorific glue of the fuel is the amount of heat mduced by
the complete combustion of 1k of fuel.
Solution: Heat Poduced by 4.5 kg of fuel=180000KJ
Heat produced by 1 kg of fuel=180,@0 KJ/4.5 Kg
=40,000 KJ/lkg
Hence the calorific alue of the fuel=40,000 kJ/k
7. Abida and Ramesh were doing anexperiment in which water was ©
be heatedin abeaker. Abidakept the beaker nearthe wick in the yellow
part ofthe candleflame.Rameshkeptthe beaker in the outermost part
ofthe flame. Whosewaterwill getheatedin ashortertime?
Ans: The vater in the RamesHs bealer will heat up in a shortertime.
This is because the outemost zone of a flame is the hotteszone,
while the yellow zone in which Abida had lept the bealer is less hot
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8. In what form is LPG sbred in cylinder? Name the chemicaldrmula
of LPG.
Ans: In gasdrm, LPG standsdr Liquefied Retroleum Gas. Its
chemical name is ISO-Butane.
9. Name the diférent techniques used in rtinguishing fire.
Ans: The fie is etinguished by the following methods:
i) Removing the combustible substance.
i) Cooling the burning substance to belw its ignition temperature.
iii) Cutting off the supply of air/oxygen.
Il. Answer in paragraph:
1. Itis difficult to burn a heap of geen leares but dry leaves
catches fie easiy. Explain.
Ans: Geen leares have a lot of moistute in them. This moistue does
not allow them to catch fire easiy. However, dry leaves have no
moisture in them. Theefore, they catch fire easil,.
2. Can the pocess of rusting be called combustion? Discuss.
Ans: Combustion is a chemical pcess in vhich a substance eacts
with oxygen and gives out energy during the processin the form of
either heator light or both. Rusting of ironis anexothermic processas
heatisreleasedduring rusting. Hencejt isakind of slow combustion.
3.Why amatchstickdoesnot catchfir eonits own atroomtemperature?
Ans: A substance does not catch émuntil its temperature is raised
toits ignition temperature. Amatchstick,apieceof wood or acanfull of
kerosene do not catch fire on their own because the ignition
temperatureofthesesubstancesare higherthantheroomtemperature.
4. Why is it dangerous to burn coal in a closedodom?
Ans:*Burning of coal in closed@om (lack of ocygen) produces
carbon-monaxide (CO) in the absence ofxygen.
*Carbon monide is poisonous b humans and it does not hee ary
smell. It is also called ‘silent killer gs: The fumes or inhaled smak
can cause lung disease or ripaven lead to death.
[ll. Answer in detail:
1. Explain how the use of CNG in aurhobiles has educed pollution
in our cities.
Ans: *Combustion of fuels lik petroleum causesdrmation of unburnt
carbon particles along with carbon monaide gas.
*Theseharmful pollutants enter the air andcauserespiratory diseases.
*Compressed Natual Gas (CNG) mduces these harmful poducts in
very less quantity.
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*It is a compaiatively a cleaner fuel. Thesfore, the use of CNG has
reduced pollution in our cities.
2. Compae LPG and \Wbd as fuels.

Ans:
LPG WOOD
* It has more calorific * |t has less calorific alue
value about 55,000 KJ/k about 17,000 to 22,@0 KJ/kg
* |t does not cause an * On burning, wood releases
environmental problem unburnt carbon particles
which cause diseases such a$
asthma.
* It is smokeless fuel * |t gives out lot of smole.
* |t is easy b store and * |t needs a lot of space to ste
can be easy transported and also ery difficult to
in cylinders pipelines. transport.
* Low ignition temperature. * High ignition temperature

3. Draw a well labelled diagram for the flame of a candle and anser
the Mllowing questions: a)
Which zone is Luminous and
Why?
b) Why is the inner most zone
grey in colour and the coldest
zone?
¢) Which zone is called the
zone of the comple¢
combustion and Wty?
Ans:
a) Inner most zone is
luminous due to partial .
combustion. The unburnt carbon particles impart a palestlow
colour to the flame.
b) The inner most zone is ggy in colour and is the coldest zone
because it contains unburnt gas particles. No combustion &k place
here as no aygen is aailable.
¢) Outer most zone is calld the zone of complet combustion. Hee
carbon and kdrogen ae completely oxidized to carbon diaxide
and vater vapour.
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IV. Fill in the blanks:

1. Burning of wood and coal causes pollution of air

2. Alliquid fuel, used in homes is LPG

3. Fuel mustbeheatedtoitsignitiontemperaturebeforeit startsburning.
4

5

. Fire produced ty oil cannot be contolled by water.
. The poisonous gas Wwich results from incomplete combustion is
carbon monide.

V. MCQ
1. Which fuels ae used ér running automobiles?
a. Wod b. Coal c. Diesel d. Chacoal

2. Combustion is a@action in which a substanceeaacts with
a. Hydrogen b. Nitrogen c. Oxgen d. Chlorine

3. Fuel may be
a. Solid b. Liquid c. Gas d. All of these
4. Which one of thedllowing is fuel of our body?
a. ketrol b. Diesel c. Fod d. Water
5. Combustion is a
a. Plysical process b. Chemical pocess
c. Both (a) and (b) d. None of these
6. Which of the 6llowing has lower ignition temperature?
a. Wod b. Paper c. \égetable oil d. Kerosene oll
7. In the presence of vater, ignition temperature of paper
a. Deceases b. Increases
¢. Rrmains constant d. None of these
8. Which of the 6llowing is inflammable substance?
a. Retrol b. Wood c. Raper d. Staw
9. Essential equirements br producing fire are:
a. Fuel b. air c. Heat d. All of these

10. Fire extinguisher-
a. Cubff the supply of air  b. Bring down the emperature of fuel

c. Both (a) and (b) d. None of these
11. Explosion is the golution of
a. Heat b. Light
c. Sound d._All of these
12. Substance which apourise during burning gives
a. Sound b. Flame c. Combustion d. None

13. Which is the hottes part in the flame of the candle?
a. Blue b. \ellow c. Black d. Wax part



14. Mellow colour in the flame denoes.

a. Outermost part b. middle zone
c. Innermost zone d. None
15. Good fuel is
a. Readily available b. Cheap
c. burn easiy in air d. All of these
16. On burning, fuel poduces amount of.heat
a. Large b. Less c. \éery less d. No heat
17. Which is a better dometic fuel?
a. CNG b. LPG c. Wbod d. Coal
18. Use of ehicle reduces pollution.
a. ketrol b. Diesel c. CNG d. None
19. During the pocess of combustion, vés @iut.
a. Heat b. Lightc. Sound d. Both heat and light
20. The most common fie extinguisher is
a. Water b. CQ c. Oxgen d. Hydrogen
21. Ideal fuel has calalufec v
a. Low b. High c. Modemte  d. Zeo

Ch.9 Reproduction in Animals

I. Answer in Paragraph:
1.Gve two differences between a zgote and a betus.
Zygote Embryo
* |t is single cellular * |t is multi cellular
* No well defined body parts * Has well- defined limbs and
other body parts
* |t is formed during fertilization | * Its formation is a post
when sperm fuses inb ovum fertilization pr ocess in
which zygote multiples
into multi cellular body.

2.Inwhich femalereproductiveorgandoesthe embryo getembedded?
Ans: *In walls of the utews.
*The embrg, once attached to wdrus gradually develops various
bog parts such as hands, legs, headjes etc,.
3. Differentiate between vviparous and wiparous animals.
Ans: *The animals vhich give birth to young ones ae called
wiiparous animals. Eg. cadog, lion.
*The animals which laeggs ae called wiparous animals
eg. insectish, frog.
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4. What is metamorphosis? @eé examples.
Ans: Metamorphosis is the pocess of tansformation of larva into an
adult through drastic change.

*Br example - pupa into adult buterfly.

*Metamorphosis does not occur inwiparous animals because
the young one esembles the adult at the time of birth.
5. What is a test -tube bay?
Ans:Oviductsof womenareblocked due to which thesewomenare not
ableto bearbabies.

* In thesetype of cases]VFor in vitr o fertilization is donein which
freshly releasedeggandspermsarekepttogetherfor afewhours.

* zygoteis allowedto develop for aboutaweekandthenit is placed
in the mother’s uterus and the baby is born andthis techniqueis called
astest-tube babies.

Il Answer in Short:
1. What is meant g Reproduction ?
Ans: The pocess ly which living organisms produce young ones of
their own kind.
2. What is Metamorphosis?
Ans: Changesindifferent stagesduringdevelopment of certain organisms.
3. What is Betus?
Ans:Thestageof embryowhenmostofthe body parts canbeidentified.
4. Explain the importance of eproduction in organisms.
Ans: *Reproduction is essential br the continuation of a species.
*It ensues the continuation of similar kinds of indviduals,
geneation after genetion.
5. Mention the names of human gonads.
Ans: Testis (teges) in male and ‘@ary’ in female ale human gonads.
[ll. Answer in detail:
1. Describe the pocess of thedrtilization in human beings.
Ans: *There is seual reproduction in human beings.
*Male eproductive organ produce sperms (male gmetes) while
the female reproductive organ produce ova (female gamees)
*When the sperms come in contact with an egg, one of the sperms
may fusewith an eggand formszygote(called asaninternal fertilization)
*The single celled gyte begins b develop into an embryo which
gets attached to theémale uterus vall.
*The embryo further multiplies into many cells and develops
further into asmallbaby calledfoetus.
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2. Define asrual reproduction. Describe two methods of asgual
eproduction in animals.
Ans:* Asexual reproduction is amode of reproduction in which only
oneparentisinvolvedto reproduceoffspring.

* |n asexual reproduction, the off springs producedare exactcopies
of their parents. Binary fission, Budding, Fragmentation etc, are the
exampleofasexual reproduction.

a) Budding:

* |nthis mode,a part of the organism startsprojecting outwards.
This projection iscalled abud. Thesebuds grow and develop andones
they maturethey separatefrom parentbody. Example. Hydra,yeast
b) Binary fission:

*It is a type of aseual reproduction in which a single cell drides
into two hales.

*QOrganisms that reproduce through binary fission ae bacteria and
amoeba.
3.Differentiate betweeninternal fertilization andexternal fertilization.

Internal Fertilization External értilization

* Fusion of male and émale * Fusion of male and émale
gametes takes place inside gametes takes place outside
female bod,. female bod,.

* Success ofdrtilisation is * Success ofdrtilisation is
comparatively more. comparatively less.

* High chances of surwvial of * Low chances of surwal,
offspring, lessnumber of large number of eggs a&
ova/eggs are produced. produced.

* Examples: Covg, Hens, Human| * Examples: Fish, Fog,
beings (Mosty mammals) Starfish

4. Explain the diferent stages in the li¢ cycle of a flog with diagram.
Ans: The lie cycle of a fiog has thee life stages.

Egg> Tadpole — Adult (frog).

Egg: *Eggs athe result of external fertilization w hich transform

into fish lile tadpoles.
Tadpole:

* Tadpole has gills, small mouth and fish ligtail to swim inside

lakes and ponds.
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Frog:
*Tadpoles gow and transform into a small fog which is
amphibian by nature.

d) Adult frog

c) Late tadpole

b) Easl tadpole
IV. Write True or False:
. Ovipaious animals gve birth to young ones- Rlse
. Each sperm is a single cell+de
. External ertilization tak es place in fog- True
. A new human indvidual develops from a cell called gmete- Rlse
. Egg laid after értilization is made up of a single cell- lue
. Amoeba eproduces ly budding- False
. Fertilization is necessary &en in aseual reproduction - FRlse
. Binary fission is a method of asaial reproduction - True
. A zygote is brmed as a esult of fertilizations - True
10. An embryo is made up of a single cell -alse
V. Completethe crossword puzzle using the hints gien below:
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Across =
1. The piocess of the fusion of thegmetes -  Fertilization

6. The type of értilization in hen. - Internal
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7. The tem used br bulges obsened on

the side of the bog of hydra - Buds
8. Eggs ae produced hee - Ovary
Down
2. Sperms ae produced in the male eproductive organs. Estes
3. Another tem for the fertilised egg - Zygote
4. These animals g eggs. - Oviparous
5. A type of fission in amoeba - Binary
VI. MCQ:
1. Internal fertilization occurs:

a. in £male bod/ b. outside £male bod/

c. in male boy d. outside male bog
2. A tadpole deelops into an adult flog by the process of

a. ertilization b. metamorphosis

c. embedding d. budding
3. The number of nuclei pesent in a zgote is .

a. None b. one c. two d. four
4. Human male germ cell is

a. zygote b. ovum C. sperm d. testis
5. Internal fertilization does not occur in .

a. human b. dog c. fish d. cow
6. Fertilization r esults is the dbrmation of .

a. egg b. zygote C. sperm d. individual
7. Which one is not an wiparous animal?

a. human b. crow c. hen d. crocodile

8. The transformation of the larva into an adult through
drastic changes is called

a. metaphase b. metastasis c. meteorle d. metamorphosis
9. Asexual reproduction involves
a. two parents  b.dur parents C._one pant d. no paents

10. Dolly the famous animal vas a .

a. donlkey  b. girl c. cloned sheep d. normal sheep
11. During a cell dvision

a. nucleus dvides first and then cvbplasm

b. cytoplasm dvided first and then Nucleus

c. nucleus and cytoplasm dides together

d. no such elationship

12. Budding is bund in hydra and yeast
a. yeast b. hydra and yeast c. hydra d. none
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13. The €male gamees ar called
a. ovaries b. sperms C. zygote d. egas
14. The zgote that develops into tissues and or@ns of the
bog is known as

a. ertilization b. zygote c. embryo d. foetus
15.1In this method,parentscelldivided into many daughter cells

a. fission b. binary fission

c. multiple fission d. budding
16. In yeast, cell diision results in a small cell called .

a. off spring b. bud c. clone d. branch
17. A single egg isaleased in émale .

a. eery week b. every a mont

c. twice a month d. can be eleased a time
18. Ovum is értilized in the uterus

a. ovary b. uterus C. cervix d. teses

Ch.10 Reaching the age of adolescence

I. Answer in Paragraph:
1. Prepare a table haing two columns depicting names of endocrine
glands and hormones seeted by them.

Ans: Endocrine glands Hormones secagted
* Pituitary - * Growth Hormones
* Thyroid - * Thyroxine
* Adrenal glands - * Adrenalin
* Pancreas - * |nsulin
* Testes - * Testosterone
* Ovaries - * Estrogen, Pogesterone

(only during pregnancy)
2. The table below shw the data on likely heights of bgs and girls
as they gow in age. Daw graph showing heidnt and age ér both

bagss and girls. What conclusion can be
" e e
? (1] { 5o
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I. Girls ae taller than boys till they reach the age of 12egars.
ii. Till the ageof 16 years,the heightof both boysandgirls remainsame.
iii. After 16, both bo/s and girls @in increase in height. In general,
boys are taller than girls.
3. Mention some pecautions that should be takn to maintain
personal hygiene
Ans: To maintain personal tygiene, bllowing precautions should

be ta&n.
* Beforeandafter taking meals,alwayswashyour handswith tap water.
* Take bath regularly with clean water.
* Brush your teeth after each meal and also befe going to bed in

order to avoid tooth decay.

* Keep your nails short and clean.
* Feet should be cleaned and ell protected.
* Hairs should be vashed regularly with soap and water.
* Byes should be vashed dail with clean and cold vater.
* Waste bod material and gabage should be disposed off mperly.
II. Answer in short:
1. What is Adolescence?
Ans: Reriod of life, when the bod/ undergoes changes leadingt
reproductive maturity
2. What is meant ly Endocrine glands?
Ans: The glands wich secrete hormones directly in the blood stream.
They do not have duct to carry their cretions.
3. What is Menstrual §cle ?
Ans:  The cyle change wiich takes place in @aries and uterus
regularly every 28 days or so and is markd by menstrual flow.
4.Whatis the term usedfor secretions of endocrine glandsresponsible
for changegaking placein the body?
Ans: * Hormones

* Hormones ake chemical messengers that &amsport signal
from one cell (or gland) 6 another cell (or gland).
5. Why do personal tygiene become moe important

during adolescent age?

Ans: The basic aim of personalylgiene is to leep bod/ neat and clean
and to avoid microbes like bacteria, virus enéring our body.
Otherwise these harmful bodies can irgct us.
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lll. Answer in detail:
1. Define adolescence and the déffent stages.
Ans: *The period of lié, when the bod/ undergoes changes, leadingt
reproductive maturity is called adolescence.
*Adolescencebeginsaround the ageof 11 andlastsupto 18 or 19 years
of age.Since tis period covers the‘teens’ (13 to18 or 19 year ofage),
adolescentsare called‘teenagers’In girls adolescencemay beginayear
or two earlier than in boys. Changeghat take placeduring puberty in
girls and boys are revealed ly external changesto the body. Emotional
changesand physiological changesbrought about by hormones. Also,
the period of adolescencevariesfrompersonto person.

2. What is menstruation? Explain
Ans: * In a émale reproductive ovaries, the wa begin to matue with
the onset of puberty

* One @um matures and is eleased ly one of the waries once in
about 28 to 30 dgs.

* During this period, the vall of the uterus becomes thick so as to
recewve the egg, in cases it igftilized and begins b develop.

*|f fertilization does not occur, the released egg and the thianed
lining of the uterus alang with its blood vessels ae shed off .

* This causes bleeding in @men which is called menstruation.

*Menstruation occurs once in about 28 to 30 dgs.
3. List changes in the boglthat take place at puberty
Ans: Common changes occur among ¥®and girls during puberty.

* Sudden incease in height.

* Change in bog shape.

* Change in wvice. In bgs, wice becomes deep and harsh, in girls, it
is high pitched woice.

* Increased actvity of sweat and sebaceous glands.

* Reproductive organs begin to matue

* Appearance of secondary saial chamacteristics

Changes in Bgs during puberty

* Facial hairs such as bea and moustaches deelop.

* Hair developsunder the armpit,chestandin the pubicregions.

* \loice becomes deeper

* Muscles deelop and shoulder becomes lwad.

* Increase in weight




Changes in Girls during puberty

* Development and enlargement of beasts.

* Hair develops under the armpit and in the pubic egion.

*Hips broaden and pelic region widens.

* [nitiation of menstrual cycle.

* Deposition of &t around hips.
4.Whataresexhormones?Why arethey namedso?Statetheir function.
Ans: *Hormones which constitute the secondary seual characters ae
called sex hormone.

* |In general,hormoneswork instantly whenthey arereleasedn blood
stream.

* Sexhormonesaredifferent becausethey start to work later on. They
gradually preparethe body for reproduction.

*The sex hormones are responsible for the fundamental changein
growth anddevelopmentand stimulate the developmentsof secondary
sexual characters.

*The testesand the ovaries are the reproductive organs and both ae
stimulated by the pituitary hormone during puberty. That'sthe reason,
thesearecalledassexhormones.

Functions of sex hormones

*In male,the testesproducesthe malesexhormonetestosterone.This
hormone helpsin the development and maintenanceof the primary
andsecondarysexual charactersandfunctions of sperms.

*In female,the ovaries secrete estrogenand progesteioneresponsible
for the primary andsecondarysexual characters.
5.Write noteson:

a) Adanis apple

The protruding part of the throat is called Adam’s apple. It is the
enlarged voicebox or larynxwhich getsenlarged and visiblefrom outside
inboysat theonset of puberty. Thismakesthevoice of boyshoar se.
b. Secondary seual characters

Secondary sexual charactersarethose characterswhich distinguish
amalefromfemale. Afew of theseare
Boy : * Facial hairs such as beat and moustaches deelop.

*Hair developsunderthe armpit,chestandin the pubicregion.

*\oice becomes deeper

*Muscles derelop and shoulder becomes hwad.

*Increase in weight.
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Girls : *Hair develops under the armpit and in pubic egion.

* Hip broaden and pelic region widens.

* |nitiation of menstrual cycle.

* Deposition of fat around hips

c. Se& determination in the unborn baly.

* All human beings hae 23 pairs of chomosomes in the nuclei of
their cells.

* Two chromosomes out of these & the se&x chromosomes named
‘X" and Y’

*  Afemalehastwo ‘X'chromosomeswhile amalehasone‘X’andone
‘Y’chromosome.

* The gametes (eggand sperm) have only one set of chromosomes.
Theunfertilized eggalwayshasone‘X’chromosome.

* But sperms ae of two kinds. One kind has an ‘X’ camosome
and the other kind has a 'Y’ clumosome.

* When a sperm containing ‘X’ comosome ertilizes the egg, the
zygote would have two ‘X’ chbomosomes and deelop into a
female child.

* |f the sperm contributes a 'Y’ chnomosome to the egg (eum)
during fertilization, the zygote would develop into a male child

* This concludes that the sechromosomes of the male detrmine
the sex of an unborn baly.

IV. Word game: use the cluesotwork out the words:
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Across

3. Protruding  voice box in boys - Adams apple
4. Glands without ducts - Endocrine

7. Endocrine gland attachedd brain - Pituitary

8. Secetion of endocrine glands - Hormone

9. Rancreatic Hormone - Insulin

10. Female Hormone - Estrogen
Down

1. Male hormone - Testosterone
2. Secetes thyroxine - Thyroid

3. Another tem for teenage - Adolescence
5. Hormone reaches hee through blood steam - Target site

6. \bice bax - Larynx

7. Term for changes at adolescence - Puberty

V. MCQ :

1. Adolescats should be caeful about what they eat because
i. Proper diet their brains.
ii. Proper diet isneeded for therapid growth takingplacein their body.
iii. Adolescents kel hungry all the time.
iv. Taste buds ae well developed in teenagers.
2. Reproductive age in vomen starts when their
i. Menstruation starts ii. Breast starts developing
iii. Body weight increases iv. Height increases
3. The right meal ér adolescents consist of
i. Chips, noodles, cak
ii. Chapathi, dal, ggetables
iii. Rice, noodles and burger
iv. \egetable cutlets, chips and lemon drink.
4. The period of lie, when the bod/ undergoes changes, leadingt
leproductive maturity, is called
a. Child hood b. Adolescence c¢.Gownup  d.Old age
5. The human bog undergoes seeral changes during adolescence
These changes mark the onset of
a. Puberty b. Pematurity c. Pst adolescence d. Ageing
6. Adanis apple is ppminent in
a. Bogss of ary age b. Adolescent gils
c. Girls of ay age d. Adolescat boys
7. Larynx is also called
a. \bice bax b. Sound ba c. Black ba d. All of the abwe
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8. Acne and pimples on theatce is due to sea@tion of

a. Bile flom liver b. Oil glands during puberty
c. Enzymes in the digestie tract d. Tear from tear dands
9. Testosterone is a hormone éund in human .
a. Childen b. Males andémales
c. emales ony d. Males ony
10. Menopause occurs at the age of .
a.10-12 years in bgys b. 45 - 50 yars in man
€. 10 -12 ars in girls d. 45 - 50 ars in woman
11. When a sperm containing 'Y’ clemosome grtilizes an egg with
‘X’ clbmosome, the zgote develops into a child
a. Female Db. Either male or Emale c..Male d. No child
12. Which of the llowing hormone is also knavn as ‘The emergency

13.

14.

15.

16.

17.

18.

19.

20.

hormone’?

a. Thyroxine b. Gonad stimulating hormone
c. Adrenalin d. Estrogen

Metamorphosis in fog is contolled by which of the bllowing
hormone?

a. Thyroid b. Insulin c. Adenalin d. Thyroxine
The thread like structure in the rtilized egg is known as
a. Chomosomes b. 4/gote c. Fetus d. Embryo

The first menstrual flow at puberty in Emales is temed as .
a. Menopause b. Menstruation c. Ovulation d. Meneire
Which of the bllowing glands secete oil?

a. Thyroid gland b. Pituitary gland

c._Sebaceous gland d. Endocrine gland

Onset of seual maturity in individuals, making them capable

of eproduction is termed as

a. Adolescence b. Metamorphosis

c. Puberty d. Menarche

In humans, the deelopment of embryo takes place in .
a. Owaries b. Oviducts

c. Uterus d. None of the abwe organs
Human bod cells contain pair obampsomes

a. 23 b. 22 c.24 d. 21

The hormone vhich regulates the deelopment of secondary
s&ual characters in males is .

a._ lestosterone b. Adrenaline

c. Estiogen d. Pituitary
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Ch-17 STARS AND THE SOLAR SYSTEM

I. Answer in short:
1. In which part of the sky can gu find venus if it is visible as an
evening star?

Venus appears in the vestem sky after sunset and is calleés the
evening star.
2. Name the largest planet of the solaystem.

The largest planet of the solarystem is Jupier
3. What is a constellation? Name grtwo consteliations.

* A constellation is a goup of stars that brm a recognisable
pattern in the sky.

* The two well known constellations are ‘Ursa Major’ and ‘Orioh
4. Why stars appear to mee from east to west?

Earth rotates on its axis fom west to east. Hence stars appear to
move from east to west.
5. What ake the uses of artificial satllites?

The different uses of artificial satdlit es are

* relaying communication signals.

* making accuate surweys and irventor of the earth's surface and

weather patterns .

* Carrying out scientific xperiments.
6. Name two objects other than planets which a& members of the
solar system.

Satellites and asteoids are the objects that ae the members of
solar system.
II. Answer in paragraph:
1. Do all the stars in the sky mee? Explain.

No, No star mees, in the sky They appear to mwae from east to
west, because the Earthatates from west to east about its axis.
2. The mdius of Jupiteris 11 times the adius of Earth. Calculate the
ratio of the wolumes of Jupier and the earth. How mawg earths can
Jupiter accommodag?

If the radius of the Earth is ‘r’ Then theadius of the Jupiteris 11 r.
So, atio of the wlumes of Jupier and Earth.

= % p (11r)3/ 4/3 prd
= 1331:1
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So, 1331 Earth can accommodate within the Jupit
3. Boojho made thedllowing sketch of the soér system. Is the sktch
correct? If not corect it.

* Boojhds sketch of the soar system is not correct because he has
interchanged the positions of Mars anahus and also the positions of
Uranus and Neptune.

* Also he has shown the astoid belt in the gap between the orbits
of Jupiterand saturn. This is not corect.

* Theasteroid beltislocatedbetweenthe orbits of Marsand Jupiter.

The correct sketch of the sobr system are given below

lll. Answer in detail:
1.Explainhow you canlocatethe pole star with the help of UrsaMajor.

* The pole star can be located using the ‘Ursa Major’ coaliation,
by imagining a line tavards the Ry
northern dir ection connecting two
stars present at the end of the bow

* The imaginary line meets pole - ,
star.

* The length of imaginary line
from the bow is about five times -
the distance between the two stars - -

of the bowl. - _‘-“'ﬁ'ﬂ-“r\a Foln Ehar——
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2. Why is the distance betveen the stars &pressed in light yars?
What do you understand by the statement that a star is eilt light
years avay from the Earth?

* The distance of the stars fsm the Earth and the distance
between the stars ae very large.

* Thus, these large distances arexpressed in light yars.

* One light year is the distance tavelled by light in one year. One
light year is equal to 9.4 x 10°km.

* A star is located eift light years avay from the earth means that
the distance between the star and the Earth is equalent to the
distance travelled by light in eight years, ie., a star is located
8 x (9.46 x10°) = 7.6 x 16° km away from the earth.

IV. Fill in the blanks:

1. The planet wtlich is farthest from the sun is Neptune

2. The planet whch appears eddish in colour is_Mars.

3. A goup of stars that appear todrm a pattern in the sky is knavn
as a_constellation.

4. A celestial bog that revolves aiound a planet is known as salite
5. Shooting stars ag actually not stars.

6. Asteids are found between the orbits of Mars and Jupdr.

V. Mark the bllowing statements as (T/F) :

1. Pole star is a member of the solarystem - Rlse

2. Mercury is the smallest planet of the solarystem - Tue

3. Uranus is the &arthest planet in the solar sgtem — Rlse

4. INSA is an artificial satelite - Tue

5. There are nine planets in the solar sstem - Rlse

6. Constdlation Orion can be seen onyl with a telescope - &lse

VI. Match the éllowing:

1. Inner planets - Earth, Mars

2. Outer Planets - Saturn

3. Constdlation - Great Bear Orion
4. Satellie of the Earth - Moon

VIl. MCQ:

1. Which of the éllowing is not a member of the solar gstem?

a) An asteoid b) A satellie  c) A constellation d) A comet
2. Which of the 6llowing is not a planet of the sun?

a) Sirius b) Mercury c) Saturn d) Earth
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3. Phases of the moon occur because
a) Wecan seeonly that part of themoonwhichreflectslight toward us.
b) Our distance fom the moon leeps changing.
¢) Theshadowofthe earth coversonly apart of the moon'ssurface.
d) The thickness of the moots atmosphek is not constant
4. The celestial objects &
a) The stars b) The planets
¢) The moon and mawy other objects d) All of the above
5. The dg on which the whde disc of the moon is visible is known as
the

a) Rull moon day b) Lunar eclipse
c) Solar eclipse d) No moon dy

6. The \arious shapes of the bright part of the moon as seen during a
month are called as
a) Phases of the moon b) Crescent moon
¢) Rull Moon day d) New moon dg
7. When the moon completes oneotation on its axis, it completes one
oand the earth.

a) Revolution b) Rotation
¢) Equinax d) Summer solstice
8. The distance of the sun &m the earth is neary
a) 150 million km b) 100 million km
¢) 200 million km d) 250 million km
9. The net nearest star to the earth dllowed by the sun is
a) The pole star b) Alpha centauri
c¢) Constelation d) Ursa major

10. The star that lies closed the axis of ptation of the earth.
a) The pole star b) Ursa Major c¢) Ursa Minor d) Cassiopeia
11. The sun is the main soue of
a) Almost all energy on the earth
b) Main source of heat ér all planets
¢) Main Souce of light br all planets
d) All of the aboe
12. The definie elliptical path in which a planet evolves aound the
sun is called
a) Orbit. b) Path c) Galaxy d) Milky way
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13.Any celestial body revolvingaround another celestial bodyiscalledits
a) Satellite b) Heavenly body c) Axis d) Revolution
14. Million of stars and planets vhich are present in the sky 6rm a
group known as
a) Milky way b) Galaxy c) Light year  d) Universe
15. Our earth as well as the sun belongs to theajaxy which has a
spiral shape called the

a) Milky way b) Galaxy c) Light year  d) Universe
16.Theheavenly body which appear brighter than Venusin thenight sky
a) Shani b) Mercury ¢) Moon d) Mars
17. Neptune has atmospher similar to that of
a) Shani b) Uranus c) Jupiter d) Mars
18. The stars 6rming a group that has a ecognizable shape is called
a) Constelation b) Orion c) Light Year  d) Pole star
19. Which was the first Indian satelite?
a) Aryabhatta b) Armstrong c) Acharya d) Andrews
20. Which is not an Indian Satell&?
a)INSA  Db)IRS c) EDUSA d) SPUTNIK-1
Chapter.13 SOUND

I. Answer briefly:
1. A pendulum oscillaés 40 times in 4 seconds. Find its time, period
and frequency

Ans: Time period =

Time taken _ 4
No.of oscillations ~ 40

= 0.1 seconds

equency = No.of oscillations 40 =10 Hz.
Time Taken 4
2. The sound fom a mosquito is ppduced when it vibrates its wings
at an average 1ate of 500 vbrations per second. What is the time
period of the vibration?

Ans: Time period = Time Taken =L
' P " No.of oscillations 500

3. Identify the part which vibratesto produce sound in the following
instruments:

Ans: a) Dholak — It has sa#tched membianes whih vibrate to
produce sound.

b) Star —In Star,thestretched stringswhen vibratethey produce sound.
¢) Flute — Fuite is a wind musical instrument vhich uses air column ¢
produce sound.

= 0.002 seconds.
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4. Explain in what ways noise pollution is harmful b humans.
Ans: *Lack of sleep, ypertension (high blood pressure), anxiety and
many more health disoders may be caused i noise pollution.
*A person who is exposed to a loud sound continuousi may get
temporary or even permanent impairment of hearing.
5. Your parents are going to buy a house. They have been offered one on
the roadside and another three lanes away from the roadside. Which
housewould you suggest your parentsshould buy?Explain your answer.
Ans: * Closer ¢ roadside, larger the noise paduition.
*So | would suggest a house thich is three lanes avay from the
roadside because the pollution feel (both air and noise pollution) is
somewhat less thee.
6. Lightning and thunder tale place in the sky at the same time and at
the same distance fom us. Lightning is seen edier and thunder is
heard later. Can pu explain why?
Ans: * Speedofsoundis 330 m/s andspeedoflight is 300,000,000m/s.
* Light avels much &ster than sound.
*Thatiswhy,lightning is seenearlier andthunder isheard later.
[I. Answer in detail:
1. What is the difeérence between noise and music? Whmusic
become noise sometimes?
Ans: @ Music is a sound wvhich produces a pleasing sensation le
noise is an unvanted and unpleasant sound.

@ Music is produced by nature by musical instruments, etc.,
Noise is poduced by horns of \ehicles, ly machines etc.,

@ Music can become noise ien we play it at very high
volume or too marny music are being plgyed at the same
time with unpleasant loudness.

2. Sletch larynx and &plain its function in your own words.

Ans: /-hv,
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2. List sources of noise pollution in pur surroundings.

Ans: Major causes of noise pollution are sounds of vehicles,
explosionsincluding bursting of crackers,machinesJoudspealers, etc.,
Sources in the home may lead to noise pollution. Television and
transistor radio at high volumes, some kitchen appliances, desert
coolers,air conditioners, all contribute to noisepollution.

@ In humans the soundis producedby the voicebox or the larynx.

@ Two vocal cods, ake stretched acoss the wice box or larynx in
such a vay that it leaves a narow slit between them br the
passage of air

@ When the lungs érce air through the slit, the wcal cods vibrate,
producing sound.

@ Musclesattachedto the vocalcordscanmakethe cordstight or loose.

@ When the wocal cods are tight and thin, the type or quality of wice
is different from that when they are loose and thick.

lll. True or False:

1. Sound cannot tavel in vacuum — Tue

2. The number of oscillations per second of a vilating object is
called its time period — Rlse

3. If the amplitude of vibration is large, sound isdeble — Rlse

4. For human ears, the audible ange is 20 Hz to 2,000 Hz — Tue

5. The lower the frequency of vibiation, the higher is the pith — Rlse

6. Unwanted or unpleasant sound is¢rmed as music — &lse

7. Noise pollution may cause partial hearing impairment — fue

IV. Fill ups:

1. Time taken by an object to comple¢ one oscillation is called
period time.

2. Loudness is de¢rmined by the amplitude of vibration.

3. The unit of frequency is_hertz (Hz).

4. Unwanted sound is cakd noise.

5. Shrillness of a sound is detrmined by the frequency of vibation.

V. MCQ:

1. Sound can tavel through
a)gases ony b)solids only
c)liquids only d)solids, liquids and @gses

2.\oiceofwhichofthefollowing islik ely to have minimum frequency?
a)Baby girl b)Baby boy C)A man d)A woman
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3. Noise is poduced by
a)irr eqular vibrations b)regular vibrations
c)both (a) and (b) d)either (a) or (b)
4. The audible ange of sounddr human beings is
a)200Hz — 2000 Hz b)20 Hz — 20000 Hz
¢) 20Hz — 23000 Hz d)220 Hz — 20000 Hz
5. The loudness of a sound depends upon its
a)amplitude b)pitch c)medium d)frequency
6. In which of the bllowing material is the speed of sound maximum?
a)lron b)Seavater  c)Fresh water d)Air
7. Sound cannot tavel through
a)air b)water c)iron d)vacuum
8. Sound vaves travel fastest in
a)Air b)metals c)vacuum d)liquids
9. Sounds hwing frequency less than 20 Hz &rcalled
a)Supersonic b)Ultrasonic  c)Sonar d)Infr asonic
10. The amplitude of the sound ave decides its
a)speed b)pitch c)loudness d)source
11. What is the thin membane present in the ear called as?
a)ear drum b)ciliary muscles c)lris  d)Pupil
12. The frequency detemines the of a sound.
a)pitch b)frequency  c)oscillatory motion  d)decibel
13. Which unit is used to gpress the loudness of a sound?

a)decibel  b)Hertz c)minutes d)second
14. Decibel is gpressed as
a)Bd b)dB c)DI d)Db
15. Above which decibel becomes a painful noise?
a)70 b)40 c)80 d)60
16. Which is an gample for low pitched sound?
a)Sparrow b)Humming bird c)Whistle d)Lion

17. Noise pollution does not cause
a)lack of sleep b)hypertension  c)éver d)anxiety
18. Which language is usedybthe hearing impaired children?
a)Speech language b)Sign language c)Baille  d)None
19. Unpleasant sounds & called as
a)noise b)song c)audible sound d)frequency
20.When air hasbeenremoved completely from avessel,can soundtravel?
a)Yes b)No c)Sometimes d)None
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